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Unit |

Electricity
Vocabulary Study
Word List
Nouns and noun phrases
1. anode aHon
2. amplifier ycunuTenb
3. cathode KaTtop,
4. charge 3apsag, 3apskeHue
electrical charge areKkTpuyecknin 3apsa
5. circuit Lenb, cxema
6. current TOK
alternating current nepeMeHHbIN TOK
direct current MNOCTOSAHHbIN TOK
7. diode avon
8. electrode anekTpoa
9. electron 3NEKTPOH
10. enclosure oropaxmBaHwe, orpaxxgeHuve, orpaga
metal enclosure MeTamm4yeckmin 6ansioH
11. filament HUTb Hakana, HUTb
12. flow Te4YeHue, NOoToK, CTpy4
13. grid ceTka
14. invention n3obpeteHne
15. outside Hapy>XHas CTOPOHa, BHELLHAA
NOBEPXHOCTb
16. oxide OKUCb
baring oxide okucb 6apus
strontium oxide OKUCb CTPOHLMS
thorium oxide OKUCb TOpUS
17. plate nnacTtuHa, nornoca
18. power 3Hepru4a
19. rectifier BbINPSIMUTESb
20.supply nuTaHue, cHabXeHne, nocTtaBska, NoaBO.
21. tube (3NeKTpoHHas ) namMmna, (3NeKTPOHHbIN)
electron tube npubop; Tpybka, Tpyba
triode tube Tpuon
22. valve 3MEeKTPOHHas namna
23. voltage HanpsxeHue, BonbTax
Adjectives
1. substantial BELWECTBEHHbIN, peanbHbin,

3HAYUTENbHbIN, 3aMETHbIN



Verbs

1. act JencTBoBaTb
2. apply NPUMEHATL, NpunaraTb
3. cause Bbl3bIBaTb
4. coat NOKpbIBaTb
5. conduct NpoBOAUTb
6. control perynupoBaTtb, KOHTPONMPOBaTb,
ynpaensaTb
7. emit ncnyckaTtb, nanydaTb
8. evacuate ouvunLlaTb
evacuated atmosphere BblKa4YeHHbIN BO3yX
9. heat HarpesaTb, HaKansTb
10. increase yBenMumBaTb, pactu
11. insulate n3onmpoBaTb
12. place KnacTb, NONIOXUTL| RoMeLLaTb
13. seal orneyaTbiBaTb, NIOMbUpoBaTb
14. state 3aaBNATb, CkadaTb, yTBepXaaTb
15. utilize NCMNONb30BaTk, YTUNN3MpPoBaTh

|. Read and translate the following words! Arrange them into the groups:
a) with one stress or stress on the first syllable; b) with the stress on the
second syllable; c) with two or more'stresses.

Utilize, increase, insulate, filament, invention, electron, current, cathode,
amplifier, diode, grid, oxide," plate, rectifier, substantial, apply, control,

evacuate, emit, supply.

Il. Match the words on the.eft with the definitions on the right.

1) electrode a. Flow of electricity through something or along a wire
2) anode or cable.
3) charge b. Amount of electricity put into an accumulator,
4) current contained in a substance, etc.
5) cathode c. Positively charged electrode (from which current
6) circuit enters).
7) filament d. Negative electrode in the form of filament which,
8)rapply when hot, releases negative electrons which are
9) eonduct attracted towards the anode.

10) emit e. Closed path for an electrical current.

f. Solid conductor by which an electric current enters
or leaves a vacuum tube.

g. Slender thread, e.g. of wire in an electric light bulb.
h. Make practical use of (research, a discovery).

I. Allow electric current to pass along or through.

j. Give or send out.



lll.  Choose:
a) a noun
1. a) invent; b) invention; c) inventive.
2. a) plateless; b) plateful; c) plate.
3. a) application; b) apply; c)applicable.
4. a) control; b) controllable; c) controller.
b) a verb
1. a) utilization; b) utilize; c) utilizable.
c) an adjective
1. a) cause; b) causal; c) causeless.
d) an adverb
1. a) increase; b) increasingly; c) increased.

V. Define the meaning of the “x” words.
1) Enclose: enclosure = x: oropaxusaHue.
2) Oxide: oxidation = oKMCnATb: X.
3) Conduct: conductivity = XympoBOANMOCTb.
4) Emit: emission = nany4vars: X.
5) Evacuate: evacuation = X: ouunLLeHME.
6) Insulate: insulation = X: nsonsayusi.

V. Make adjectives from the following nouns by adding the suffixes: -al, -
able, -ous, -ic, -ive.
Substantiation, act, state\utilization, charge, circuit, electron, invention.

VI.  Arrange the words withrsimilar meaning of the two groups in pairs.

To amplify, enclosurée, flow, to supply, tube, power, substantial, to act, to
apply, to cause, to coat) to control, to emit, to place, to state.

To confirm, to sttengthen, current, to provide, energy, real, to do, to use, to
regulate, to putj te radiate, fencing, valve, to occasion, to cover.

VII. Match'the words with their opposites, like the example:

unknown well-known
a) outside 1) unreal
b) anode 2) to rest
c) to rectify 3) cathode
d) substantial 4) inside
e) to act 5) to distort
f) to coat 6) to uncover
g) to evacuate 7) to pollute
h) to heat 8) to cool
1) toincrease 9) to decrease

j) flow 10) stagnation



VIIl. Match the verbs from "a” with the nouns from "b”.

IX.

NoO,RwWNE

PonE X

N oo

a) emit b) electrons
heat cathode
utilize filament
insulate heater
increase current
conduct circuits
control electrical charge
place tube
cause changes
amplify voltage

Complete the sentences with the given words.

Invention, diode, is Insulated, emits, alternating,), direct, detector,

enclosure.
The simplest of electron tubes is the ..., which hastwo electrodes.

Modern electronic industry was born with the ...\ef the electron tube.

The heated cathode ... the electrons.

The heater ... from the metal tube.

Diode tubes are often used to change .«. current to ... current.
The diode tube can be used as a ....

An electron tube consists of a glass©r metal ....

. Translate into English.

[noa coctonT U3 KaToga U anoaa.

HarpeBaTtenb 0OblMHO U3QIMpPYeTCs OT MeTanIMYeckon Tpyoku.
[voa no3sonsieT TOKy<reUb TONbKO B O4HOM HanpasieHUM.
dvoabl MOryT WCROfMbL30OBATbCA B KayecTBe BbINPSMUTENEWN,
npeBpaTUTb NEPEMEHHbLIN TOK B MNOCTOAHHbIN.

[noabl YacTewUCMoNb3yTCA B paano 1 TerieBu3opax.

Tpunon cocTeuT N3 Tpex afieMeHTOoB: KaTtoda, aHo4a U CeTKM.
Tprog MOXET UCNOob30BaTbCS KaK yCUNNTenb.

A. Text Study

l¢ LLOQk at the title. What do you think this reading will be about?

Text A
THE ELECTRON TUBE

YTOOBbI

It may be stated that the modern electronic industry was born with the
invention of the electron tube. An electron tube, also called a vacuum valve,
consists of a glass or metal enclosure in which electrodes are placed and
sealed in either a gaseous or an evacuated atmosphere.



The simplest of electron tubes is the diode, which has two operating
electrodes. One of these is the heated cathode, which emits the electrons,
and the other is the plate or anode. The cathode may be directly heated or
indirectly heated. The tube with the directly heated cathode utilizes the
heated filament for the cathode; in this case the filament is coated with a
special material, which greatly increases the number of electrons emitted. If
the tube has an indirectly heated cathode, the cathode consists of a metal
tube in the center of which is a filament or heater. The heater is insulated
from the metal tube.

The outside of the cathode tube is covered with an electron-emitting
material such as baring oxide, strontium oxide or thorium oxide.

The principal advantage of the diode tube is that it permits the flow of
current in one direction only, that is, from the heated cathode to the anode.
Alternating current applied to the cathode, the tube will.eonduct only during
one half of each cycle, the cathode being negative and.anode or plate being
positive. For this reason diode tubes are often used ‘as rectifiers to change
alternating current to direct current. Diode tubes areused in the power-supply
circuits of such electronic devices as radio and tefevision. Another use of the
diode tube is a detector (B kauecTBe geTekTopa).

The triode tube was discovered by adding a third element to the diode
tube. The electron flowing from the cathode to the plate could be effectively
controlled by changing the electrical charge on the grid placed between them.
The effect of the grid in a triode /makes it possible for the tube to act as an
amplifier, small changes in voltage on the grid causing very substantial
changes in the current flow from‘the cathode to the plate.

Il. Read the text again carefully and answer the questions.

1. What was bern with the invention of the electron tube?

2. What does, an electron tube consist of?

3. What s the simplest of electron tubes?

4. What are the operating electrodes of the diode?

5. AWhat is the difference between the tube with the directly and indirectly
heated cathode?

6. What is covered with an electron-emitting material?

7. What is the principal advantage of the diode?

8. Why are diode tubes often used as rectifiers?

9. What does the triode tube consist of?

10. What does the grid make it possible to do in a triode?

[ll. Which of the vocabulary units used in paragraphs 1-2 could be
regarded as international words?



IV. Read the translation of the first paragraph. Compare it with the
original and say if everything is right.

YTBEpXOalT, 4YTO COBPEMEHHasi 3MEeKTPOHHAA MPOMbILIEHHOCTb
Ha4Yanacb C M306peTeHuUs 3MNEKTPOHHOW mamnbl. JNEKTPOHHaa namna
TaKKe HasblBaeTcd BakyymMHou namnon. OHa COCTOUT U3 CTEKMSHHOro
nnu meTannuyeckoro GanrioHa, B KOTOPbIA MOMELLAKTCA aMneKkTponbl U
3anevartbiBatoTcd NMbo B raszoobpasHon, Nnbo B BakyyMHOM aTMocepe.

V. Find the English equivalents of the following words and word
combinations in paragraph 2.
[vopn, oBa OENCTBYIOLWMX SNeKTpoaa, HarpeTbi KaTed, McnyckaTtb
9NEKTPOHbI, aHOA, HarpeTasl HATb HakanMBaHus, B 3TOM Cry4vae,
NOKpbIBaTb 0COBLIM BELLLECTBOM, U30/IMPOBATb.

VI. Find the passage about the advantage of the{ diede and its use and
translate it into Russian.

VIl. Choose a passage and read it aloud (1-2)minutes).

VIII. Find complex grammar structures in_the text and divide them into
simple ones.

IX. Find out the subject-matter and the means of its secondary
expression.

e.g. She likes to read books \They are interesting.

X. Find key words, phrases @and the topic sentences which express the
general meaning of each paragraph best of all.

XI. Using the information ebtained from the paragraphs make a plan of
the text.

XIl. Speak about the) electron tube using key words, phrases, the topic
sentences antthe plan of the text.

B. Text Study

l. Look at the title of the text. Make your predictions about the content
of/it. Read the text and answer the question.
When can people get an electric shock?

Text B
ELECTRIC SHOCK AND SAFETY ELECTRIC SYSTEM
The strength of current depends on both the voltage and the resistance
in a circuit. A current of 50 ma is dangerous for a man; it may result in an

electric shock. One gets an electric shock in case one touches live
conductors when the power is on. And a current of 100 ma and higher is



lethal. Thus, before working on a circuit, deenergize it and work on it with the
power Off.

Earthing system serves to protect attending personnel from electric
shocks when voltage appears on parts that are normally dead. The risk of an
electric shock decreases with decreasing voltage. In wet and hot atmosphere
the risk of electric shock increases. Safe voltage for circuits used in dry
atmosphere is under 36 V. When the power is on contacts live conductors are
dangerous for life. When a live conductor is touched with both hands the
resistance of the conductor is from 10,000 to 50,000 ohms. When a live
conductor is touched with one hand the resistance is much highen, The higher
Is the body resistance, the smaller is the current that flows through the body.
Take it into consideration and work with one hand if the poweris“on! Or work
on the circuit with the power off!

Thus measures are taken to protect attending persannel from contacts
with live parts of installations under voltage.

The danger of electric shock disappears prowided the metal parts of
installations under voltage are connected withground by means of safety
earthing. Connecting to ground is made by means’ of measuring devices. The
faulty parts should be detected, eliminated,.and’'replaced by new ones.

ll. Read the text and define whether ‘the following statements are true or
false.

1. A current of 60ma isn’t dangerous for a man.

2. When the power is on it’s{pesSsible to get an electric shock.

3. It's impossible to protectipeople from electric shocks by means of

earhting system.

The risk of electric shock decreases in wet and hot atmosphere.

The risk of eléctric shock is much higher when a live conductor is

touched with'ene hand.

ok

. Expand the sentences.

The.strength of current depends on both ....

One_gets an electric shock in case ....

Safe voltage for circuits used in dry atmosphere is ....

When the power is on contacts live conductors are ....

The resistance of the conductor is from 10,000 to 50,000 ohms when

Ce)w N =

: The higher is the body resistance, the smaller ....
The danger of electric shock disappears provided ....

~N o

IV. Now decide which of the following statements express important ideas
or supporting details for this reading.

1. a) A current may be dangerous for a man, it may result in an electric

shock.



b) One gets an electric shock in case one touches live conductors when
the power is on.
c) A current of 100ma and higher is lethal.

2. a) When a live conductor is touched with both hands the resistance of
the conductor is from 10,000 to 50,000 ohms.
b) When a live conductor is touched with one hand the resistance is
much higher.
c) The higher is the body resistance, the smaller is the current that flows
through the body.

3. a) Earthing system serves to protect personnel from electric’shocks.
b) Connecting to ground is made by means of measuring devices.
c) The faulty parts should be detected, eliminated,-and replaced by new
ones.
d) Safety measures should be taken to protect people from electric
current.

V. Find the words — carriers of the primary and the secondary
information in paragraph 1.
VI. Define the function of commas in‘paragraph 2.
VII. Find out the means of connection between clauses, parts of the
sentence and sentences.

VIII. Arrange the sentences:in the logical order according to the text.
1. Earthing system serves to protect attending personnel from electric
shocks.
2.The strength 0f ‘current depends on the voltage and resistance in a
circuit.
3. Current may result in electric shock.
4. It is-necessary to work with one hand if the power is on or work with
the power off.

IX{ ‘Give the main points of the text in 4-5 sentences.
C. Text Study
|. Translate the text into Russian.
Text C
INSULATORS

Insulating materials have a very low conductivity. They offer extremely
high resistance to the flow of current. Insulators are used in electric devices to
isolate conductors. Thus they should have a high dielectric strength and a



high resistivity. Their mechanical properties are also important for practical
use.

Insulators are divided into gaseous, liquid and solid. They are also
divided into groups according to their heat resistance.

The main gaseous insulator is air. At 20°C the dielectric strength of air
is extremely low; it is lower than the strength of most liquid and solid
dielectrics.

Liquid insulators are mineral oils, synthetic liquids, resins, and others.
Of them mineral oils are used in oil transformers, cables and capacitors. In
transformers, oil is used to insulate current conducting parts. Thus, it should
have a high dielectric strength (10 to 20 mV/m). As to resins, at low
temperatures they are amorphous. When heated, they beceme”first plastic,
then liquid. Resins are the most important components. of\many plastics.
(Commonly used in electrical engineering are synthetic{(polymeric) resins —
polyethylene). Plastics are used as wire and cable insulation. Solid insulators
are paper, cloth, plastics, and porcelain. Of them plastics are widely used in
electrical engineering as insulating and structuralmaterials. As to porcelain, it
is highly resistant to mechanical factors and heat. Due to this property it is
used to produce low- and high-voltage insulators.

GrammanStudy
BpemeHa, rpynnebl Simple

Ecnn HyXHO coobwnTb O\ BENCTBUN WU COCTOSHUN B HACTOSALLEM,
npowegwemMm wunu 6yaywem, SHe ykasblBad Ha Xxapaktep MpOoTeKaHus
aencTteus, To ynotpebnawT\Present, Past, Future Simple B 3aBucumoctn ot
BpemMeHn gencteud. [is,'ebpasoBaHns BONPOCUTENBHON U OTpULaTENbHOM
dopm umcnonbayTCcaA BCNoMoraTenbHble rnaronbl do (does) — Present
Simple, did — PastSimple, shall / will — Future Simple.

Ecnu ckagzyemoe BblpaxxeHo rnaronom to be, to have unm moganbHbIMK
rnarofiamu_(¢any may, must n gp.), To oTpuuartesibHas U BOMPOCUTESbHAS
dopMbl 00pa3yTCA MU CaMOCTOATENBbHO, 6e3 NoMOoLLM BCNOMOraTesibHbIX
rnarosioB:

CnpsbkeHue rnarosios rpynnel Simple

Present Simple | | | |Past[Simple Future Simple
1 2 3
YTBEpau- | ask, make | asked, made | (we) shall ask, make
TenbHas He (she) asks, He (she) asked, He (she) will ask,
makes made make
We (you, they) We (you, they) You (they) will ask,
ask, make asked, made make




1 2 3

Bonpocu- Do you ask? Did you (they, we, | Shall we ask? make?
TenbHad make? he) Will he (you, they)

Does she ask? ask? make? ask? make?

make?
OTtpuua- | do not (don't) | (he, she, they) | (we) shall not
TenbHas ask, make did not (didn’t) (shan’t) ask, make

He (she) does ask, make He (she, you, they)

not (doesn’t) will not (won't)

ask, make ask, make

[maron to be
(to be — was / were — been)

CuHTakcu4yeckas yHKUMS 1
3Ha4eHune

Mpumep n nepesog,

1. CMbICnioBOW rnaron co
3Ha4YeHNEM «ObITb», «HAXOOUTLCA»
(korgoa 3a HUM cnenyeT
CyLeCTBUTENbHOE C NpPeasioromM nnu
Hapeuue)

The new device is in the laboratory.
HoBebin apunbop HaxoanTca B
nadoparopun.

2. naron-cesa3ka (B codeTaHum
npegukaTMBOM) CO 3HaYEHNEM
«ObITb», «ABMATLCA», KCOCTOATHY,
«3aKnyaTbCa»

My father is a designer.

Mow oTeL, — KOHCTPYKTOP.

Our aim is to obtain reliable results.
Hawa uenb cocTouTt B TOM, YTOObI
Nony4YnTb HageXHble pe3ynbTaThbl.

3. BcnomoratenbHbi naron Ans
obpasoBaHunsa dopm:
a) Continuous) Perfect
Continuous

k) cTpagaTenbHOro 3anora

She was listening to the radio in
the kitchen. — OHa cnywana paguo
Ha KyXxHe.

It has been raining since 9 o’clook
a.m. — [loxab nget ¢ 9 yacos yTpa.
The telephone was invented by
A.Bell.

TenedoH 6bin1 n306peTeH
A.bennom.

4. MoaanbHbIN rnaron co
3Ha4YeHnEeM «JOImKeH», Koraa oH
CTOUT nepen NHPUHNUTNBOM
CMbICNOBOrO rnarona ¢ Yyactuuemn
“to"

The lecture is to begin at 10 o’clock.
Jlekumna gormxHa HadyaTtbea B 10
4yacos.




|.Choose the correct phrase underlined in each sentence.

What time go you/do you go to bed on Saturdays ?

Why are you waiting/do you waiting outside the door?
Don’'t ask Tim. He doesn’t know/not knows the answer.

| having/I’'m having my lunch at the moment.

When you leave/do you leave the house ?

| don’t understand. What is_happening/is happen?
Excuse me, does you know/do you know the time?

This is a great party. I'm having/Am | having a lovely time.
We can't use the lift because it don’t works/doesn’t works

Cox~Non~wnE

=

..What you are doing/are you doing here?

ll. Read the answers and then complete the questions.

1. Where ..does Sue....... live. ..o, ?
Sue? She lives at the end of Axwell Road.

2. DO ?
Jim? No, | don’t know him.

3. What.........coo il L2
At the moment? I'm doing my homewaork.

T (P . 07 S ?
Here? No, I'm sitting over there.

5. D0 AN ?
Here? No, we change trains at the next station.
I'm wearing two pullovers because | feel cold!

0 T N 0 ?
David? No, he's not staying with Tom.

8. When......... % ?

Kate? She’comes home at 6.30.

lll. Rewrite,each sentence so that the verb underlined is a
negative\centraction.

1..Naemi and Bill are watching television.

Naomi and Bill aren’t watching television.

2. Pater likes chocolate cake.




6. The sun sets in the east.

IV. Choose the correct sentence in each context.

a) You want to invite a friend to your party on Friday. You say:
1. | have a party on Friday. Do you want to come?
2. I'm having a party on Friday. Do you want to come?

b) You find a wallet on your desk and ask the people nearby:
1. Who does this wallet belong to?
2. Who is this wallet belonging to?

¢) A friend invites you to a snack bar at lunch time. You say:
1.Thanks, but | always go home.
2. Thanks, but I'm always going home.

d) A friend opens the door and says:)What are you doing? You reply:
1. 1 work as a secretary.
2. I'm repairing the computer.

e) A friend asks: Do you like\lemon tea? You reply:
1. | prefer tea with milk.
2. I'm preferring tea with milk.

f) You haven't decided yet about buying a new bike. You say:
1. I think about'it,
2. I'm thinking about it.

g) A friend-asks you if you have finished the book she lent you. You say:
1. Sorry, I still read it.
2. Sorry, I'm still reading it.

h) Itisya hot day, but a friend has a heavy coat on. You ask:
¥ »Why are you wearing a heavy coat?
2. Why do you wear a heavy coat?

V. Choose the correct word or phrase underlined in each sentence.
1. That can't be right!(l don't believe / I'm not believing it!
2. Carol can't swim today. She has/is having a cold.
3. See you in the morning. | leave/I'm leaving now.
4. What do you do/are you doing? If you drop it, it will explode!
5. Stop doing that, Billy! You are /You are being very silly.




6. | drive/I'm driving! You can sit in the back with Martin.
7. What do we eat/are we eating this evening? I'm really hungry!
8. You're a great cook! This cake tastes/is tasting wonderful.
9. Where do you go/are you going? | haven't finished speaking to
youl!
10. Chemistry is hard. | am not understanding/l don't understand it.

VI. Put each verb given into present simple or present continuous.

1. Ugh, don't show me that picture! | (hate) .../......hate....... spiders!

2. Who (you, go with) .............. to the match on Saturday?

3. In the winter, what (you, wear)....................... ?

4.1 can't stand horror films. | (think)............. they're really-silly!

5. Diana (not, usually, Sit) ............ ....cooee e, next to Ellen.

6. Why (you, look at) .............. me like that? Have | done'something
wrong?

7. Excuse me, but (this bus, stop)....... outside the Rost Office?

8. I(not take).................. the bus to school todayy My mother (give) ...

............. me a lift.

9. Don't worry about the cat. It (only eat)....!........ once a day.

10. | can't work out the answer, (you, know) | what it is?

11. What's the matter? Why (you, stare)at'me like that?

12. Excuse me, but (you, speak) ....English? I'm looking for a hotel.

13. Helen (stay) ......ccc........ with her brother while her house is being
repaired.

14. You should go on a diet(you, put) ..........cevvennne.. on weight.

15. (they, speak) ...........[. .\, French or German? | can't tell the difference.

VII. Choose the correct sentence, 1 or 2, in each mini-dialogue.
a) A: Can you come dancing tomorrow night?
B: 1) Sorry, l'llplay basketball.
2) Sorry, I'm playing basketball.
b) A: Whatlarewour plans for the summer?
B: 1.4 spend a month in the mountains.
2)./'m going to spend a month in the mountains.
¢) AXWhat do you think about the weather?
B: 1) It'll probably rain tomorrow.
2) It's raining tomorrow.
d) A: What about tomorrow at about 5.30.?
B: 1) OK, I'll see you then.
2) OK, I'm seeing you then.
e) A: Mary is buying a dog next week.
B: 1) Really? What is she going to call it? 2) Really ? What is
she calling it ?
f) A: It would be nice to see you next week.



B: 1) Are you doing anything on Wednesday ?

2) Will you do anything on Wednesday?

VIII. Put the verb given into a form of will, going to or present
continuous. More than one answer may be possible.

1.

10.

Have you heard the news? Harry (join) ...us

. Sorry to keep you waiting. | (notbe)........... .......... long.
. According to the weather forecast, it (snow) tomorrow.

. I'm sorry | can't meet you tonight. | (go out) with my parents.

2
3
4
5. Careful! You (knock)................ that jug off the table!
6.
7
8
9
0

In fifty years' time, most people (probably ride). ....bicyclesto work.

. Our teacher (give) ................ us a test tomorrow.
1(g0) e to Manchester at the end of next week.
. Look out! You (hit).. ... that tree!

| think our team (probably win)................... /8, :

IX. Analyze the functions of the verb to be. Translate the sentences into
Russian:

©CoNoG~wWNE

The results of the experiment are ofigreat importance for our further work.
There are no chemical plants in,Qur town.

The substance that we are spéaking about is water.

We are to translate technical literature in the second year.

Technical progress is impossible without high quality materials.
Electronics is being used more and more throughout the industry.

The electron is a particle.

Our task is to finishithe test by 7 o’clock.

. Smoking is dangerous.

10 This scientific,discovery was the result of six years research.
11. Our aim is 10 accomplish this task as soon as possible.
12. Their.house is in the middle of the village.
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Unit Il
Computers
Vocabulary Study
Word List
Nouns and noun phrases

application NpUMeHeHne
approach noaxoAd, npuonumxeHne
circuitry 3rIeKTPUYECKNE CXEeMbl, KOMMOHOBKA

3NEKTPNYECKON CXEMDbI
computation BbluMCreHne
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10
11
12
13
14

0.

condition
creation
determination
efficiency
employment
engineering
sciences

. field
12.
13.
14.
15.
16.
17.
18.
. view

information flow
objective
possibility
reliability
sequence
transmission
variety

Adjectives
complicated
great
low-cost
main
modern
particular
simple
sufficient
wide

Verbs and verbal phrases
adopt

apply:

base

Create

design

employ

express

fulfil

govern

Jead
.pave
Jperform
.require
Jpermit

ycnosue
cosfaHue
onpegeneHue, peweHne
3O PEKTUBHOCTb

npmMmeHeHmne, ncnorb3oBaHne

TEXHNYECKMNE HayKn

oTpacsb
NOTOK MH(popmaLmm
uenb

BO3MOXHOCTb
HaOeXHOCTb, NPOYHOETL
nocrnegoBaTenbHOCTb
nepenava
pa3Hoobpasune
HamepeHune

CINOXHbIW

Benukumn, 6onbLuomn
HM3KON CTOMMOCTH
rNaBHbIN, OCHOBHOMN
COBPEMEHHbIN
0COBEHHbIN, 0CODbIN
NpPOCTON
JOCTaTOYHbIN
LLUMPOKUIA

NPUHUMAaTb, yCBaMBaTb
NPUMEHSATb
6a3npoBaTb, OCHOBbIBATb
co3gaBaTb

npeAHa3Ha4yaTb, NMPOEKTMPOBaTb
ynoTpebnsATb, NPUMEHSATb, UCNONb30BaTb

BblpaxkaTb
BbIMOMHATb, OCYLLIECTBIATb
ynpaBnsaTb, perynnpoeaTtb
BECTU

MOCTUTb, MPOKNaabiBaTb
BbIMOJTHATb, OCYLLECTBIATb
TpeboBaTb

NO3BONSATb



15.solve pewaTtb, paspewaTs (Npobnemy)

16.utilize NCMonb3oBaThb

17.work out cocTaBnATb, pa3pabaTbiBaTb
Adverbs

1. easily nerko

2. entirely BCeLEeno, CoOBepLIEHHO

3. quite AOBOJIbHO, COBEPLLUEHHO

4. rather JOCTaToO4YHO, AJOBOSIbHO

|. Read and translate the following words. Arrange them into the‘\groups: a)
with one stress or stress on the first syllable; b) with the stresson the second
syllable; ¢) with two or more stresses.

Reliability, technique, govern, modern, computation,.require, fulfil, logical,
sequence, subdivision, information, employment,( \objective, program,
process, automatic, possibility, importance, contrel, system, technical,
industrial, machine.

Il. Match the words on the left with the definitions on the right.

1) Objective a) mathematicalcalculation

2) computer b) what you are‘trying to achieve

3) technique c) an electronic machine that can quickly make
calcdlations, store information

4) computation d) aparticular method of doing something

5) instructions e)'clear and detailed information on how to do

something, especially written information

lll. Choose:
a) a noun
1. a) provide; h) providing; c) provision; d) provided.

b) a verb
1. a)-application; b) apply; c) applied; d) applicable.

¢))an adjective
1. a) solve; b) solution; c)solvable; d) solved.

d) an adverb
1. a) widen; b) widely; c) wide; d) width.

IV. Define the meaning of the “x” words.
1. Produce: production = npon3sBoanTb: X.
2. Consider: consideration = paccmaTpuBaTb: X.
3. Include: inclusion = Bkro4aTb: X.



Absorb: absorption =nornowaTsb: X.
Operate: operator = paboTtatb:X.
Develop: development = passuBaTb:X.
Replace: replacement = 3ameHATb:X.
Create: creature = co3gaBaTb:X.
Differ: difference = pasnunyaTtb:X.

©oo~N O h

V. Make adjectives from the following nouns by adding the suffixes: - al, -ic, -
ous and translate them into Russian.

Industry, mathematics, logic, digit, arithmetics, atmosphere, metal, base,
electron, harmony, monotony, danger, fame, religion, courage.

VI. Arrange the words with similar meaning of the two groups in pairs.

1) entirely a) fulfil

2) create b) evolution

3) field c) employment

4) importance d) principal

5) objective e) significance

7) main f) purpose

8) development g) branch

9) application h).cempletely
10) perform ihproduce

VII. Match the words with their opp0sites, like the example:

easy hard
1) high a) before
2) possibility b) low
3) after c) difficult
4) new d) simple
5) easy e) the same
6)-complicated f) old
) different g) narrow
8)'soon h) lately

VIl/Match the verbs from “a” with the nouns from “b”.
a) to transmit, to solve, to govern, to pave, to utilize, to fulfil, to develop, to

work out, to perform;

b) problems, information, the way, processes, the program, techniques,
operations, principles, the algorithms.

IX. Complete the sentences with the given words.
Are applied, systems, technical possibilities, programs, cybernetics,

objectives, engineering

cybernetics.

sciences, control algorithms, technical
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8.
9. In our country both systems of control ... ... .

The computers have created entirely new ... ... .

The computers paved the way for a new field of science - ... .

The importance of cybernetics is great in the sphere of ... ... .

A newly developed field of knowledge is ... ... .

Its ... are to control automatic industrial processes.

One of the main problems of technical cybernetics is the development
of ... ...

The algorithms worked out for employment in control machines are
called....

Two ... of computers are now created for control computer-design.

X. Translate into English.

1.

KOMFIbI-OTepr co3panum HOBbIE TeXHN4YeckKmne BO3MO>XHOCTWU
aBTOMATU4YECKOIro KOHTPOJ1A NPOMBbILUNEHHbIX MPOLLECCOB.

2. 3HayeHue KnbepHEeTUKM BENUKO.
3.

Llenbto TEXHUYECKOM KnGepHeTUKN AIBNSEeTCS KOHTPOIb
aBTOMAaTMYECKNX NPOMbILLNEHHbIX NPOLIEeCCOoB.

Mporpammbl — 3TO anropuTMbl, pa3paboTaHHble ANs UCMNOMb30BaHUS B
KOHTPOJIbHbLIX MaLUUHAX.

OnNEeKTPOHHbIE undposble KOMMbOTEPDI BbIMOSHSIIOT Kak
apudmeTnyeckue, Tak U ofUMECKMEe onepaumm.

KomnbloTepbl NO3BOMSKT) “ynpaBnsaTb npoueccamu B AOBOJSIbHO
CNOXHbIX YCIOBUSIX.

A. Text Study

Il. Look at the titley What do you think this reading will be about? Read the

text and’'define its main idea.

Text A
COMPUTERS AND CYBERNETICS

The computers or high-speed electronic machines of today have

created entirely new technical possibilities in automatic control of industrial
processes. First designed for solving mathematical problems, they soon
paved the way for a new field of science — cybernetics — that studies
general principles of control both in life and non-live systems. The importance
of cybernetics is great in the sphere of engineering sciences. A newly
developed field of knowledge is technical cybernetics. Its objectives are to



control automatic industrial processes, to study problems of transmission of
information and to develop new principles of automatic control.

One of the main problems of technical cybernetics is the development
of control algorithms to be used in processing and control of information
flows. The algorithms worked out for employment in control machines are
called programs. These are based on subdivision of the computation process
into simple arithmetical operations and on determination of the logical
operations to be performed with a view to fulfil the program which gives the
sequence of the machines and must be coded or expressed in the adopted
code systems.

Two systems of computers are now created for cantrol\ computer
design.

One of these is the development of general-purpose centrol machines
that may have much wider application but require more ‘complicated logical
circuitry and greater number of instructions and commands employed in the
computer. This approach permits control of a great variety of industrial units
with the aid of one and the same computer.

The second system utilizes modern @miecrocomputer techniques to
develop special-purpose machines designed to control a particular process.
This leads to the creation of more easily operated and low-cost control
computers. Tests of some control ,computers manufactured for specific
industrial units have shown their efficiency and quite sufficient reliability.

In our country both systems,of control are applied. Electronic digital
computers perform both aritbmetical and logical operations, making it
possible to govern processes\under rather complicated conditions.

Il. Read the text again, carefully and answer the questions.

. What possibilitiesshave the computers created?

. What does cybernetics study?

. What are the'objectives of technical cybernetics?

. What is:the)ymain problem of technical cybernetics?

. Where'are‘control algorithms used?

. What{are programs?

. What are programs based on?

.(How many systems are now created for control computer design?
~What can you say about the first system?

10. What does the second system utilize?

11. Where are both systems of control applied?

12. What do electronic digital computers perform?

QONOUTDAWNPE

[ll. Which of the vocabulary units used in paragraphs 1-2 could be regarded
as international words (scientific terms)?



IV. Read the translation of the first and the second paragraphs. Compare it
with the original and say if everything is right.

TpeTbsa cuctema ncrnonb3osana COBPEMEHHYIO TEXHOJIOrnIo
MUKPOKOMMBIOTEPOB AN pasBUTUS MaLUMHbI CleunanbHOro HasHayeHus,
CKOHCTPYMPOBaHHOW [ONA KOHTPONs 3a OTAenbHbIMU rpoueccamu. JTO
NpuBENO K C€O34aHul JIerko paboTawrowero M [OOpororo KOHTPOSIbHOro
KOMNbtoTepa. TecCTbl KOHTPOJSIbHONO KOMMbIOTEpPa, W3roTOBIIEHHOrO [AJS
cneyndgunyeckoro MNPOMBILLSIEHHOIO npunbopa, nokasblBaloT ero
9P PEKTUBHOCTb N HEAOCTATOYHYIO HAQEXHOCTb.

B Hawen cTtpaHe npuUMeHANUcb BCe CUCTEMbl KOHTPOSIA, OIEKTPOHHbLIN
UMPPOBON  KOMNLIOTEP  BLINOMHAET apudPMeTUYEeCKNe Uq~ normyeckue
ornepauuun, genaroLwme Bo3MOXHbIM yNpaBnATb NMPOLEeCcCoOM B-CaMbIX NPOCTbIX
yCroOBUSAX.

V. Find the English equivalents of the following words @and word combinations
in paragraph 4:

npuMeHeHne, TpeboBaTb, CNOXHbIA, KOMMNOHOBKA 3NTEKTPUYECKON CXEMBbI,
nogxon, pasHoobpasune, NoOMOLLb, YCTPONCTBO;
in paragraph 5:

0CODEHHbIN, co3gaHne, HM3Kast CTOMMOCTb, AENCTBEHHOCTb, JOCTaTOYHbIN,
HaLeXHOCTb.

VI. Find passage about one of_the ‘'main problems of technical cybernetics
and translate it into Russian.

VIl. Choose a passage and read it aloud (1-2 minutes).

VIII. Find complex grammar structures in the text and divide them into simple
ones.

IX. Find out\the subject-matter and the means of its secondary expression.
e.g. The ehildren are hungry. Give them something to eat.

X. Eindkey words, phrases and the topic sentences which express the
general meaning of each paragraph best of all.

XI. Using the information obtained from the paragraphs make a plan of the
text.

XIl. Speak about computers, technical cybernetics using key words, phrases,
the topic sentences and the plan of the text.



B. Text Study

|. Look at the title of the text. Make your predictions about the content of it.
Read the text and answer the questions.

a. What applications of computers do you know?

b. Where else may computers be used?

c. How does an ordinary computer operate?

d. What types of computers do you know?

Text B
COMPUTERS CONCERN YQU

When Ch. Babbage, a professor of mathematics at Cambridge
University, invented the first calculating machine in 1812 he could hardly have
imagined the situations we find ourselves in teday. Almost everything in
modern world is done with the help of computers — the complicated
descendants of his simple machine. Computers are being used more and
more extensively in the world today, for the simple reason that they are far
more efficient than human beings. They have much better memories and can
store great amount of information and, they can do calculations in a fraction of
the time required by a human mathematician. No man alive can do 500,000
sums in one second, but a modern 'computer can.

In fact, computers can,dos many things we do, but faster and better.
They can control machines*at factories, work out tomorrow’s weather and
even play chess, write (poeetry or compose music. Let's look now at some of
the ways in which caemputers concern people in their daily lives and work.

Many people _associate computers with the world of science and
mathematics, butythey are also a great help to scholars in other subjects: in
history, literature and so on. It is now possible for a scholar to find a book or
an article.he needs very quickly, which nowadays when a million or more new
books, are published each year is quite an advantage. You tell the computer
which subject you are interested in and it produces any microfiche you need
In seconds.

There are also systems which are being developed to translate articles
from foreign magazines by computer and to make up many lists of
information which are needed in a modern library. So, computer can help us
to deal with the knowledge explosion in many ways. One can imagine a time
when libraries will be run by computers, without human being at all.

Or, let's take another example. When a man drives a car for long
distances he has two problems: to keep the car at constant speed and watch
that he does not run into the car in front of him. Engineers are now
experimenting with a system which has a computer control of these two



problems. The car's computer keeps the speed constant. At the same time
the distance between the car and any other car in front of it is measured by a
beam of light transmitted forwards. The beam meets the rear reflectors of the
car in front and it is reflected back, which enables to measure the distance.
This information is fed to the computer which adjusts (perynupoBaTb) its
speed control accordingly.

ll. Read the text and define whether the following statements are true or
false.
1. Charles Babbage invented the first calculating machinejin the 18"
century.
2. Computers play a very important role in modern life.
3. Computers are less efficient than human beings.
4. Computers can store great amount of information.
5. It's impossible to imagine a time when libraries will be run by
computers, without human beings at all.

lll. Expand the sentences.
1. Ch. Babbage invented the first calculating machine.
2. Almost everything in modern world is donhe with the help of computers.
3. Computers do many things.
4. Computers are also a great help to scholars.
5. The car's computer adjusts its/,speed control accordingly.

IVV. Now decide which of the\following statements express important ideas or
supporting details for this reading.
1. a)Everything in madern world is done with the help of computers.
b) Computers are ‘being used more extensively in engineering.
c) Computersihave a very good memory.
2. a) Computers are able to do many things.
b) Cemputers can control machines at factories, play chess, compose
music:
c) Computers concern people in their life and work.
3. _(a)’Computers are associated with the world of science.
b) Computers help scholars in different subjects.
c) Computers can help you to find a book or an article you need.

V. Find the words — carriers of the primary and the secondary information in
paragraph 1.
VI. Define the function of commas in paragraph 3, 5.
VII. Find out the means of connection between clauses, parts of the sentence
and sentences.
VIIl. Arrange the sentences in the logical order according to the text.
A. Computers help people to study.



B. The creator of the first calculating machine couldn’'t predict its
significance.

C. Computers help drivers.

D. The possibilities of computer are unlimited.

E. Computers are widely used in our everyday life.

IX. Give the main points of the text in 4-5 sentences.

C. Text Study

|. Translate the text into Russian.
Text C

HARNESSING THE SPEED OF LIGHT

When the American scientist Alan Huang revealed his plants to build an
optical computer, most scientists considered ,thiS idea as hopeless. It was
impractical, if not possible, they said, to create a general-purpose computer
that could use pulses of light rather than,electrical signals to process data.
During one of the scientist’'s lectures aon.the subject, a third of the audience
walked out. At another one, some ‘\of the scientists laughed, calling the
researcher a dreamer.

That was several years~ago. Now the scientist demonstrated his
experimental computing machine based on optics. It look him five years to
develop it. The device — a.collection of lasers, lenses and prisms — can serve
as the basis for future eptical computers 100 to 1,000 times as powerful as
today’s most advanced’ supercomputers. The potential applications are
remarkable: robots\\that can see, computers that can design aircraft,
processors that-can’ convert spoken words into written text and vice versa.
Such practicakoptical computers are still years away — some would say light-
years.

Yet many scientists are predicting that the device will have an impact
similar.t@ that of the integrated circuit which made small personal computers
possible.

Photons, the basic unit of light beams, can in theory be much better
than electrons for moving signals through a computer. First of all, photons
can travel about the times as fast as electrons. And while electrons react with
one another, beams of photons, which have no mass or charge, can cross
through one another without interference. Thus, photons can move in free
space. This could open the door to radically new and different computer
designs, including so-called parallel processor that could work on more than
one problem at a time instead of one after another, as today’s new generation
computers do.



Grammar Study
BpemeHa rpynnel Continuous

BpemeHa rpynnol Continuous  obpasyloTcad € NOMOLLbIO
BCromoraTtesibHoro rnarona to be B cooTBeTCTByOWEM BpEMEHU, Nuue U
yucrne n npuyactus |, T.e. no gopmyre to be + Participle | (ing).

The Continuous (Active)

Present Past Future
YTBEpAM- | | am writing l, he, she, it was |, we shall be
TenbHas | he, she, it is writing | writing writing
dopma
we, you, they are |we, you, they were he, she, it, we, you,
writing writing they  will be
writing
Bonpocu- | Am | writing? was |, he, she, it Shall |, we
TenbHas || he, she, it writing? be writing?

PoPMa | \uriting?
were we, you, they Will  he, she, it

Are we, you, they writing? we, you, they be
writing? writing
OTtpuua- | | am not writing [, heyshe, it wasnot |1, we shall not be
TenbHas | he she, it is not writing writing

®opPMa | \yriting
we, you, they were | he, she, it, we, you,

we, you, they @re " | not writing they  will be not
not writing writing

BpemeHa rpymmbl  Continuous ynoTpebnawTca  Ans  BblpaKeHus
OEeNCTBUSA, NPOUCXOAALLEro B KakoW-TO ornpenesieHHbIn MOMEHT BPEMEHUN B
HacTosiWeM ~MApowegwem 1  byaywem. OTOT  MOMEHT  MOXET
nogpasymMeBatbCsd W3 KOHTEKCTa WM MOXeT OblTb 0603HayeH nubo
KOHKpETHBIM YKazaHnem Ha BpeM4, Hanpumep: B 10 yacos, Nnnbo ykaszaHnem
Ha OpPYroe o4HOKpaTHoe AencTBue, Hanpumep: Korga Mbl BOLWW; KOrga Mbl
BEPHYAUCH U T.4.

B Present Continuous MOMEHT MOXeT ObITb Bbipa)eH CnoBamu NOw
cenyac, at the moment B aToT MOMeHT. Hanpumep,

They are doing grammar exercises  OHu genarT rpammMmaTuyeckmne

now. ynpaxHeHus cenyac.

They were doing grammar exercises OHW genanu rpammMmaTnyeckmne

when he came in. ynpaxHeHus1, kKorga oH BoLuern.
They will be doing grammar OHun B6yayT genatb rpaMmaTmnyeckme
exercises at 10 o’clock tomorrow. yrnpaxxHeHus 3aBTpa B AeCATb

4acoB.




[(narosnbl, Bolpaxatowme vyyscTsa: to love (nobuts), to like (HpaBuTbLCSA),
to hate (HeHaBmgeTb) M T.n., BOCNpuATUA: to see (Bugetb), to hear
(cnblwarte), to feel (4yBcTBOBaTL), t0 know (3HaTb), to remember (MOMHUTB),
to understand (NoHMMaTbL) M T. M., a TakkKe rnaronol to belong
(NpuHagnexaTtb), to contain (cogepxaTtb), to consist (COCToATh), 10 possess
(obnapatb), kak npasuno, B gopme  Continuous He ynoTpebnsawoTcs,
Hanpumep,

Thank you, | feel much better now. — bnarogapto Bac, a 4yyBcTByl0 cebs
ropasgo nydue.

Ha pycckun Aa3blk BpemMeHa rpynnbl  Continuous nepeBoaaTCs
rnaronamMmm HecoBepLUEHHOro BUAa HacTosLwero, npowegwera uau\byayuero
BpeMeHW. [AnuTenbHbIn XxapakTep AeNCTBUS nepegaeTcs cnesamMu cenyac, B

D,aHHbII7I MOMEHT, B 3TO BpeMA U T. A..
You can talk to him. He is not working.

He was getting ready for his final exams
when | came in.

She will be working at her article at that
time tomorrow.

Bbl MmoxxeTe noroBoputs ¢ HUM. OH He
paboTaeT B AaHHbLIA,MOMEHT.

OH roToBUCA KBBIMYCKHbIM 3K3aMeHaM,
Koraa st npuLlesT

3aBTpa B 3T0Bpems oHa byaeT paboTaTb
Ha[ CBOEW GTaTben.

The Continuous (The-Passive)

To be + being +Participle

Present I am
he, she, it + is being written
we, you, they are

Past I
he, she, it #“was being written

we, you, they\.) wer

B ctpapaTtensHom 3anore Future Continuous He ynotpebnsaeTtcsa. Tpu
cnocoba nepeBoaaCrpagaTenbHOro 3anora cnpaBeasnivebl U Ans nepesona
BpemeH rpynnbl€ontinuous, HO NocneaHne NepeBoasATCA rnarosiom
HecoBepLUeHHOro Buaa, Hanpumep: Kuury yntarT. — The book is being read.

[maron to have (to have — had — had)

CuHrakenyeckas yHKLMUS 1 3HAYEeHne

lNpumep 1 nepeBog

1. CGMbIGNOBOM rnaron co 3Ha4YeHnem
«MmeTb», «obnagatb» (Nnepeq MUMeHeM
CYLLEeCTBUTENbHbIM, YACTTUTESTbHbIM,
MECTOUMEHNEM)

Now Belarus has many educational
establishments.

Cenvac B benapycu nmeetcs MHOro
y4yeOHbIX 3aBefEeHNN.

2. BcnomoraTtenbHbI rnaron ans
obpasoBaHuna BpemeH Perfect (nepeq
npyvyacTMeM npoluenLero BpeMeHu)

Many years have passed since the day
when radio was invented. Npowno MHoro
neT ¢ Tex nNop, Kak 6b1510 M306peTeHo
paawo.

3. OKBMBaneHTbl MOAANbHOIO rnarona B
3Ha4YeHun OOSMKEHCTBOBAHNSA (nepen
WHOUHUTUBOM CMbICIIOBOrO rfiarona ¢
yactuuen «to»

He had to make a lot of experiments. Emy
MPULLINOCH NPOBOANTL MHOMO
9KCMEePUMEHTOB.




|. Explain the use of Continuous Tense in the following sentences. Translate
the sentences into Russian.
1. I am at my English lesson. | am sitting and doing my exercises. My
friend is not sitting, he is standing at the blackboard and looking at me.
2. Itis getting cold now, isn't it? Look out. Is it raining now?
3. You are late. What were you doing? | was translating a text.
4. When | came home my parents were having supper and at the same
time they were watching TV.
5. What was he doing when | rang up an hour ago? He was looking
through a newspaper when | rang up.
6. Tomorrow we shall be preparing for a test for the whole evening.
7. In July they will be taking their exams for the whole month.

Il. Choose the right form of the verb in brackets.
1. We (are translating, translate) a technical text now.
2. We usually (are not translating, do not translate) ‘stories.
3. She (does not look, is not looking) through all'the newspapers every
evening.
4. He (looked, was looking) through a newspaper when the telephone
rang.
5. What (were, was) you doing a minute ago? | (was watching, watched)
television.
6. | (watch, am watching) television every day.
7. | had a late night, | (worked}) was working) until midnight.
8. Yesterday he (workedswas working) a lot.
9. The students (had, were having) an interesting discussion when the
teacher came in.

lll. Define the functions of the verb to have in the following sentences.
Translate them!

Cosmic television has a great future.

He had'te work hard to complete his investigation on time.
The_éngineer will have to improve the accuracy of this machine-tool.
A-new method has been used in order to investigate this problem.
| have to do this work now.

Our planet has powerful sources of energy.

You will have to go to the library to get this book.

We've got a new teacher.

She will have many new subjects next term.

10.They have already passed the examination in electrical engineering.
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Unit 1l
Communication
Vocabulary Study

Word List
Nouns and noun phrases
1. apparatus - annapart, npnbop, annapaTypa
2. application - NMpUMeHeHune
3. border - rpaHuua
4. Dbreak - NpopbIB
5. cell - (6buon.) kneTka, siveuka, coTta; (9n.)
3NIEMEHT
6. communication - CBfI3b
cellular communication - COoTOoBas CBA3b
video communication -  BWUAEOCBA3b
7. conception - MNOHATUE; NOHUMaHWne
8. data - AaHHbleypakTa, tHdopmaums
9. device - YCTPOMETBO
10. exhibition - BblCTaBKa
11. housewife - AOMOX03dK1Ka
12. Internet - %\ WUHTepHeT, BCeMnpHas
MHJOPMAaLIMOHHAsA CeTb
mobile Internet - MOOUNbHLIN NHTEPHET
13. kilobit - KMnobwur
14. “know-how” - “Hoy-xay”, - cnocob nepenoBown
TEXHOSTOMN
15. language - A3blK
electronic language - 3NEKTPOHHbIN A3bIK
Internet language - a3blk IHTepHeTa
16. mail - rnodyra
electropicimail (e-mail) - 9NEeKTPOHHas noyta
17. mankind - YenoBeYyecTBO
18. message - coobLeHne
19. megabit - merabut
20! Mmet - CeTb; NayTuHa
video communication net - CceTb BMOEOCBA3M
21. receiver - TenedgoHHasa Tpybka;
- paguonpueMHuK; nonyyaTtens
22. ring - 3BOHOK
local ring - MECTHbIN 3BOHOK
23. speed - CKOpPOCTb
24. sense - YyBCTBO, OLlylleHue
25. sphere - obnacTb, none JesiTernbHOCTH,

cdepa



26.
27.
28.
29.

30.
31.

akrwONE

©®O~NO

10.

NoOARWNE

9.

10.

11.

1.

subscriber
tendency
trade

user

web
World Wide Web

Adjectives

accessible
cellular
enormous
electronic
impossible

local
main
mobile
ordinary
wide

Verbs
book
carry out
compare with
cost
create
expese
link

obtain
transmit

use
work out

Adverbs
all

- aboHeHT

- TeHOeHuus

- ToproBng

- NUuO, ocyLlecTBNsOLLEE

- nonb3oBaHue (nonb3oBaTenb);
notpebutens

- ceTb; NayTuHa

- BCeMUpHas MHopMaLMOHHada ceTb

AOCTYNHbIN, JOCTUKAMbIV
COTOBbIN

rpoMaHbIN, OrROMHbLIN
3NEKTPOHHbLIN

HEBO3MOXXHBI; HEBbLIMNONMHUMBbIN,
HEBEPOSTHBIN

MEeCTHbIN

rnaBHbiN, OCHOBHOW
MOBNNBbHBIN; NepeaBUKHON
OObIYHbIN

LLUINPOKUIA; BOMbLLIOWN, OBLLNPHLIN

3akasblBaTtb (Ouner)

BbINOJSTHWUTb, NMPOBOANTbL, OCYLLECTBNATD
CpaBHMBaTh C

CTOUTb

cosgaBatb

BbICTaBMSATb

CBS3bIBaTb, COEaUHATD; ObITb
CBSI3aHHbIM

nonyyaTb; gocturatb, gobusaTbcs
nepefasaTtb; OTNpaBNATb, MOCbINATD;
(paguo, TNB. TpaHCMpPoOBaTh)
ynoTpebnaTb, NONb30BaThCH,
NPUMEHATb

pa3pabaTtbiBaTb

BCeLero, BMoJiHe; COBEPLUEHHO



all over

all over the world

. especially

2
3. even
4

nowadays

noBcoay, Kpyrom
no BCEMY  CBETY; COBEPLUEHHO,
NOMNHOCTbLIO

0COBEeHHO, rnaBHbIM 0b6pasom

aaxe

B Halle BpeMmsi; Tenepb

|. Read and translate the following words. Arrange them into the groups: a)
with one stress or stress on the first syllable; b) with the stress on the
second syllable; c) with two or more stresses.

Problem, television, compare, conception, user, mobile, ticket,\tendency,

message,

communication, nowadays, apparatus, mankind;, operation,

technology, Internet, application, cellular, enormous, expese, exhibition,
ordinary, telephone, device, different, wireless, transmit,.elegtronic.

Il. Match the words on the left with the definitions on the right.
1) telephone

2) bit

3) television
4) mega-
5) e-mall

6) apparatus

7) technology
8) accessible

9) data

10) know-how

11) message

a)
b)

c)

d)
e)

K)

information, usually in the“form of facts or statistics.
a system that lets you_send a message directly from

your computer to sameone else’s computer.

some kind of specialized knowledge.

available for peaple to use or see.

the practical\‘application of scientific knowledge,
especially/in the form of advanced scientific methods
and equipment.

the /system of sending pictures and sounds by
electrical signals over a distance so people can
receive them in their homes.

the equipment needed for some task or activity.

an electrical system you use to talk to someone in
another place by dialing a number on a piece of
equipment and speaking into it.

a piece of information or a request which you send to
someone, or leave for them.

the smallest unit of information held in a computer’s
memory.

At the beginning of a unit of measurement means it is
a million times greater than another unit.

a) communicative; b) communicate; ¢) communication.
a) receiver; b) receive; c) receivable.

[Il. Choose:
a noun
1.
2.
3.

a) use; b) user; c) useful.
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9.
10.
11.
12.
13.

14.
15.
16.
17.

IV. Define the meaning of the “x” words. Improve:

©CoNOO~WNE

a) conception; b) conceptual; c) conceptualize.

a verb

a) transmit; b) transmission; c) transmitter.
a) creation; b) creative; c) create.

a) subscription; b) subscriber; c) subscribe.
a) operational; b) operate; c) operation.

an adjective

a) different; b) differentiate; c) differently.
a) mobility; b) mobilize; ¢) mobile.

a) electronic; b) electron; c) electronics.
a) mainframe; b) main; c) mainly.

a) cellular; b) cell; c) cellule.

an adverb

a) especial; b) especially.

a) enormously; b) enormousness; ¢) enormous.
a) high; b) highly; c) highness.

a) ordinarily; b) ordinary.

=ynydwams: X. (e51a207/1.; cyusecmeumeribHoe)
Communicate: communication = x: coobLieHne
Create: creation = co3gaBarb: X

Receive: receiver = NnpuHUMaTh: X

Exhibit: exhibition =X ‘BbICTaBKa

Use: user = x: nofib3oBaTtenb

Subscribe: subscription = nognuceiBaTbCA: X
Expose: expesition = BbICTaBNATb: X

Transmit: transmitter = X nepegaTymk

Tend: tendency = nMeTb TEHOEHUMIO: X

improvement

V. Make. adjectives from the following nouns by adding the suffixes: -al, -
ical/ -y, -less, -ible, -ic, -ful, -able and translate them into Russian.

sense, break.
VI Arrange the words with similar meaning of the two groups in pairs.

1) communication a) portable

2) enormous b) exposition

3) mankind c) frontier

4) mobile d) huge

5) conception e) field, area

6) exhibition f) usual, standard

7) trade g) rapidity

Teehnology, electron, operation, speed, sphere, voice, help, theatre,



8) sphere

9) device

10) ordinary
11) border
12) tendency
13) speed

14) nowadays
15) web

h) contact; transmission
1) trend

]) commerce

k) humanity

) idea

m) at the present time
n) net

0) implement

VII. Match the words with their opposites, like the example:

dirty

a) ordinary

b) obtain

C) create

d) different

e) mobile

f) impossible
g) non-business
h) main

1) enormous

) wide

clean

1) destroy

2) static

3) tiny

4) business

5) narrow

6) lose

7) unusual

8) possible

9) similar,ordinary
10) minor

VIIl. Match the verbs from “a” with the nouns from “b”

a) transmit
book
expose
obtain
create
carry/out
cost
use
work out
be linked with

b) devices
bank operations
net
Internet
electronic language
tickets
telephone receiver
data
ring
speed

X~ Complete the sentences with the words given below.

1. Most devices of ...

language.

communications will be exposed as an Internet

2. Mobile Internet is the main ... .

3. By the year 2001 more than a half ... of mobile nets will use WAP.

4. In the West millions of ... people, even housewives have two or three
apparatus of cellular communication.

5. The speed of ... transmitting is the main problem nowadays.



6. By the year 2004 there will be 120 million users of ... Internet and every
fourth user will do it with the help of cellular ... for working in the W.W.W.
7. World Wide ... is the system that stores information for computer users
around the world to use.
8 .Mobile ... and mobile ... are impossible without speed.
9. Telephone, television, cellular communication and W.W.W. create an
enormous ... for mankind.
10.The ... mail, voice message, trade, bank operations will be carried out
with the help of an electronic language.
Video, subscribers, Internet, data, electronic, “know-how”, nan-business,
web, mobile, communication, net, cellular.

X. Translate into English.

1. Ha 3anage MUNNMoHblI HeAENOBbIX NOAEN U AaXe AOMOXO3ANKN UMEKOT

annapaTbl COTOBOW CBA3MN.

. MobunbHbIN IHTEPHET HEBO3MOXKEH BE3 CKOPOCTM.

. CkopoCTb nepegaun  [aHHbIX  SBRSETCd\/ rnaBHon  npobnemon

CEroaHsILLHEro gHs.

4. Ncnonb3ya VIHTepHeT, YyenoBeyecTBO .OyaeT MMETb COTOBYIO rOfIOCOBYHO
N BUOEOCBA3b NO BCEMY MUPY, U CTOUTb OHa OyaeT He Gonblue, Yem
MECTHbIV Terie(pOHHbIN 3BOHOK.

5. Pasnu4yHble 6aHKOBCKME yCnyrm)ROKYrnKW, 3aka3 6bunetoB Ha Bce BUAbI
TpaHcnopTa, B TeaTpbl U Ha BbICTaBkn ByayT AOCTYMNHbI B Noboe Bpemd
n B ntobom mecre.

6. OneKkTpoHHas noyra, rOJ0CoBble COOOLLEHUS, TOproBble U HGaHKOBCKME
onepaunn byayT OCyWeETBIIATLCS C NOMOLLbI MHTEPHETOBCKOIO A3blKa.

7. K 2001 rogy ©6onee nonoBuHbl aboHEHTOB MOOWNbHLIX ceTen ByayT
MCNONb30BaTb ISAEKTPOHHLIN $A3blK, pas3paboTaHHbI cneuuanbHO As
MobunbHoro NurepHeTa.

w N

A. Text Study
|. Look'at the title (and the pictures). What do you think this reading will be
about? Read the text and define its main idea.
Text A
CELLULAR COMMUNICATION AND MOBILE INTERNET
Telephone, television, cellular communication and W. W. W. (World

Wide Web — Internet) — all these are different conceptions creating an
enormous net for mankind.



Mobile Internet is the main "know-how"; it is a break into and out of the
borders.

In the West millions of non-business people, even housewives have two
or three apparatus of cellular communication.

Speed is the main problem of today in that sphere of technology, which
is linked in our sense with an ordinary telephone receiver.

Mobile Internet and mobile video are impossible without speed, as the
speed of data transmitting is the main problem nowadays.

By the year 2004 there will be 120 million users of Mobile Internet and
every fourth user will do it with the help of cellular communication, for working
in the W. W. W. Different services of banks, shopping, booking-tickets for all
kinds of transport, for cinemas, exhibitions, theatres — all\these will be
accessible at any time and place.

By the year 2001 more than a half subscribers of.mobile nets will use
WAP (Wireless Application Protocol) — it is an electronic language worked
out especially for the Mobile Internet.

Most devices of cellular communications will bé exposed as an Internet
Language.

The electronic mail, voice messages,.trade, bank operations, etc. will be
carried out with their help.

With the help of high technology, there is a tendency to obtain the speed
of 11 megabits per second, comparing with the speed of 9,8 Kkilobits
nowadays.

Using Internet mankind) “will have cellular voice and video
communication nets all overithesworld, and its ring will cost no more than a
local ring.

Il. Read the text again‘carefully and answer the questions.

1. What conceptions' create an enormous net for mankind?

2. What main *know-how” is a break into and out of the borders?

3. What people have apparatus of cellular communication?

4. What are Mobile Internet and mobile video impossible without?

5. Whatds the main problem of today in that sphere of technology, which is
linked n’our sense with an ordinary telephone receiver?

6.'What is W.W.W.?

7.*What communication will be used by users of Mobile Internet for working
in the W.W.W. by the year 20047

8. What services will be accessible at any time and place?

9. When will more than a half subscribers of mobile nets use WAP?

10.What speed can be obtained with the help of high technology?

11.What will mankind have using Internet?

[ll. Which of the vocabulary units used in paragraphs 1-5 could be regarded
as international words?



V. Read the translation of the third and fourth paragraphs. Compare it with
the original and say if everything is right.

Ha BocToke MnnnnoHbl AenoBbIX N0gen, a He AOMOX03deK, UMEKT Mo ABa
N TpW annaparta COTOBOW CBA3M.

CkopocTb B Hawun AHM He npobnema B ToM 0BnacTtM TEXHWUKKU, KOTopas
CBsizaHa C BOCMNpUATUEM OObIYHOro pagnonpuemMHuka.

V. Find the English equivalents of the following words and word combinations
in paragraphs 4, 5 and 6.

O6nactb TexHUKU, 0bbl4Has TenedoHHas Tpybdka, MOBUNbHLIM\NHTEPHET,
CKOPOCTb Mepefadn OaHHblX, rnmaBHaa npobriema, nosib3oBarenb, coToBad
CBSA3b, BCEMUPHAA MHGOPMaLMOHHAA CeTb, pasnnyHble GaHKOBCKME yCnyru,
3aka3 buneToB., ObITb JOCTYMHbLIM B NOO0OE BpeMS, B HALLW AHW.

VI. Find a passage about WAP and translate it into RussSian.
VII. Choose two passages and read them aloud (2-2 minutes).
VIII. Find complex grammar structures in the text‘and divide them into simple
ones.
IX. Find out the subject-matter and the nteans of its secondary expression.
e.g. Take the book from the table and put-itiinto your bag.
X. Find key words, phrases and the\topic sentences which express the
general meaning of each paragraph\best of all.
XI. Using the information obtained from the paragraphs make a plan of the
text.
XIl. Speak about cellular communication and Mobile Internet using key words,
phrases, the topic sentences and the plan of the text.

B. Text Study

I. Look at the title Of the text. Make your predictions about the content of it.
Read the textiand answer the questions:

a. What'is Facsimile Transmission?

b. When did Facsimile machines come into use?

¢. Can personal computers imitate the operation of fax machines?

Text B
FACSIMILE TRANSMISSION

Facsimile Transmission is a communication system that copies, sends,
and receives documents by way of telephone lines. Also called faxing, this
method of communication allows people to share exact copies of important
papers by duplicating and sending them on one end, and then receiving and
reproducing them on the other.



Facsimile machines came into use in the early 20" century when
newspaper companies began using them to transmit photographs between
branch offices. By the mid-1980s use of desktop facsimile machines had
become commonplace for business and personal correspondence throughout
the world. Since the 1990s many people have used personal computers to
send and receive facsimile transmissions, or faxes, eliminating the need for a
separate facsimile machine. In the latter half of the decade, Internet fax
services grew increasingly popular. These services provide the ability to
receive faxes to anyone who has Internet access.

Personal computers can imitate the operation of fax, machines.
Computer-based faxing enables people to transmit electronic gomputer files
as faxes to another computer or to a conventional fax machine.

To send and receive facsimile transmissions, a computer must be
equipped with faxing software and a fax modem, and it )Jnyst be connected to
a telephone line. The faxing software prompts the computer user to enter the
fax number of the receiving computer or fax machine. The software
compresses the file so it can be transmitted more-gfficiently, and then sends it
to the fax modem. The modem converts digital“computer files into analog
signals so they can travel via telephone lines.

The fax modem of the receiving \computer reconverts the analog
telephone signal into a digital computer file. The faxing software on the
receiving machine decompresses the\file, and then notifies the computer user
that a fax has been received. The receiver may choose to either view the fax
in its electronic format or print it.

Il. Read the text and define whether the following statements are true or false.

1. Facsimile Transmission allows people to share exact copies of important

papers by duplicating and sending them on one end, and then receiving

and reproducing them on the other.

Facsimiletmachines came into use 20 years ago.

Since.the 12990s few people have used personal computers to send and

receive’facsimile transmissions.

4. Personal computers can imitate the operation of fax machines.

5./7e send and receive facsimile transmissions, a computer must be
connected to a telephone line and doesn’t need any additional equipment.

W

lll. Expand the sentences.

1. Facsimile Transmission is a communication system that copies, sends and
receives documents by way of ... .

2. Also called faxing, this method of communication allows people to share
exact copies of important papers by ... .

3. Facsimile machines came into use in the early 20" century when ... .



4. By the mid-1980s use of desktop facsimile machines had become
commonplace for ... .

5. Since the 1990s many people have used personal computers to send and
receive facsimile transmissions, or faxes, eliminating ... .

6. These services provide the ability to receive faxes to anyone who ... .

7. Personal computers can imitate ... .

8. To send and receive facsimile transmissions, a computer must be
equipped with ... .

9. The modem converts digital computer files into ... .

10. The fax modem of the receiving computer reconverts the analog
telephone signal into ... .

IVV. Now decide which of the following statements express.important ideas or
supporting details for this reading.
1. a) Faxing allows people to share exact copies of impaertant papers.
b) Faxing duplicates and sends documents on one end, and then on the
other.
c) Facsimile Transmission, also called faxing,</S a communication system
that copies, sends, and receives documentsiby way of telephone lines.

2. a) Facsimile machines came into usé in the early 20" century.

b) Since the 1990s many people have used personal computers to send
and receive facsimile transmissions,, or faxes.

c) Nowadays Internet fax services provide the ability to send and receive
faxes to anyone who has Internet access, eliminating the need for a separate
facsimile machine.

3. a) To send and‘receive facsimile transmissions, a computer must be
equipped with faxing software and a fax modem, and it must be connected
to a telephoneiline.

b) The seftware compresses the file and then send it to the fax modem.
c) The.modem converts digital computer files into analog signals so they
cantravel via telephone lines.

4. @Q)» The fax modem of the receiving computer reconverts the analog
telephone signal into a digital computer file.
b) The faxing software on the receiving machine decompresses the file,
and then notifies the computer user that a fax has been received.
c) The receiver may choose to either view the fax in its electronic format
or print it.

V. Find the words — carriers of the primary and the secondary information in
paragraph 1.



VI. Define the function of commas in paragraph 2.

VIl Find out the means of connection between clauses, parts of the sentence
and sentences.

VIll.Arrange the sentences in the logical order according to the text.
1. Personal computers can imitate the operation of fax machines.
2. Faxing allows people to share exact copies of important papers by
duplicating and sending them on one end, and then receiving and
reproducing them on the other.
3. The receiver may choose to either view the fax in its electrenicformat or
print it.
4. Computer — based faxing enables people to transmit electronic computer
files as faxes to another computer or to a conventional(fax machine.
5. Since the 1990s many people have used personal‘computers to send and
receive facsimile transmissions, or faxes, eliminating'the need for a separate
facsimile machine.

IX. Give the main points of the text in 4-5,sentences.



C. Text Study
|. Translate the text into Russian.
Text C
TALKING VIA SPACE

Communication has come a long way from the time when an Indian
beat a drum in the forest to the time when a scientist receives messages from
a satellite. In this space age communication has become a highly developed
field. The system of communication in large countries is unthinkable today
without space satellites. Besides large distances, there is(a great time
difference: the territories of some countries comprise up~t0 11 zones.
Satellites help to minimize all the difficulties that may appear. They rapidly
transmit TV and radio programs to different towns, cities;and distant areas.

Space systems and electronic technology have made it possible to set
up an automatic system of communication designed,for rapid transmission of
all kinds of information.

People write letters and send telegrams:{But at the same time people
living in various cities like to exchange .,news on the telephone. Statistics
reports that the number of long-distance\telephone calls is about 2,000 million
per year. A person in Moscow talking“on the phone with Vladivostok must
know that this conversation is carried on through a satellite.

Trains and cars can use (mobile radio telephones to make calls.
Businessmen can use teletypewriters to send messages via telephone lines
to other teletypewriters in another city which automatically print them as they
are received. Even photographs can be sent over telephone wires.

Practically all the ‘population in large countries can watch TV programs
via satellites. The orbital communication systems make it possible for people
from different continents to see and hear one another.

The impanrtance of space means of communication is increasing every
year. Thé~eommunication satelltes of the international organization
“INTERSAT>enable people to keep reliable telephone, telegraph and telex
communijcation in any weather with ships practically in every part of the World
Ocean.

Grammar Study

BpemeHa rpynnel Perfect

[‘pynna coBepLUEHHbIX BpeMEH (Perfect Tenses) o6o3HayvaeT, 4To
OEeNCTBME 3aKOHYMIOCh, 3aBepLUNITIOCh K onpeaenéHHOMY MOMEHTY B
HacTosLemMm, npoweawem unu 6yayuwem: | have seen this film (A (yxe)
nocmoTtpen aToT omnbMm). He had finished his work by 10 o’clock in the



morning (OH 3aBepLumn padoty k 10 yacam ytpa). Ann will have written her
article by 3 o’clock. (AHHa HanuweT cTaTblo K 3 Yacam).

B LueHTpe BHMMaHNA — pe3ynbTaT JENCTBUS, a HE BPEMS €ro BbINOSTHEHUS.
Ckasyemoe BO BpemeHax rpynnbl Perfect obpasyetcsa npu nomoLm
BcromorartesibHoro rnarosia to have B Hactoswem (have, has), npowealem
(had) nnu 6ygywem (shall have, will have) HeonpegenéHHom BpemeHn u I
doOpMbl CMbICIIOBOrO rrarona.

3anomMH1Te NOPSA0K CrOB B PasnNUYHbIX TUNax NpeanoXXeHun BO BpeMeHax
rpynnel Perfect, npuBegéHHbIX B Tabnuvue. 3gech, kak U BO BpeMeHax rpynnbl
Continuous, nNpy NOCTaHOBKE BOMNpPOCa Ha NepBoe MECTO CTaBUTCS, NepBbIN
BCNoMoraTesibHbIN rraros.

CnpskeHue rnarosios rpynnel Perfect

dopma Present Perfect Past Perfect Future Perfect
YtBepau- | | have (I've) "written I had (I'd) written [ 'shall (1"l have
TenbHass | He has (He’s) ["the letter | the letter by 2 He will (He'll)
o'clock written the letter by 2
o’clock
Bonpocu- | Have | written the | Had | written.the Shall 1 have
TenbHasa Has he} letter? letter hy 2'0’clock Will he
written the letter by 2
o’clock?
OTtpuua- | have }written the hhad not written the | | shall [ not have
TenbHasa He has ] letter letter by 2 o’clock. He will J written the
I've not writtensthe- I'd not written... letter by 2 o’clock
He’s } letter Il not have
He'll written...

PacnosHaBaTenbHblie\GnemMeHThI rpynnbl Perfect:

1. Present Perfect.

[encTteue CoBERLUMNOCH K HAacTodALeMy MOMEHTY. Pe3ynbTtart aToro
OeNCTBUA HanuLo. OTO BPEMS LLUMPOKO ynoTpebrseTcs B pasroBOPHON peyu
CO criegywwmmm cnosamu: ever, already, just, lately, yet, since.

2. Past-Perfect.

[enciBve coBepLINIIOCh K onpeaenéHHOMY MOMEHTY B MPOLUAIOM. OTOT
MOMEHT nepefaétca obcroaTenscTBamum BpeMmeHu: by that time, by 2 o’clock,
by the end of the year (month).

Past Perfect ynotpebnseTtcsa Takke B Tex criydasx, Koraa Mbl XOTUM
nogYepKHyTb NpeawecTBOBaHMe 0gHOro aencTeus gpyromy: He said that he
had left his key at home.

3. Future Perfect.

[encTteune coBepLUMTCA K U 0 onpedenéHHoro MOMeHTa B ByayLiem.
MomeHT moxeT bbITb ykasaH: by Sunday, by 3 o’clock, by that time. Future




Perfect ynotpebnsieTca peako, 4Yawe oHO 3aMeHsieTcsa goopmon Future
Indefinite.

l. Use the verbs to make a form of the present perfect simple.
Model: The ship(not sink)....but it's in a dangerous condition.
The ship hasn‘t sunk but it‘'s in a dangerous condition.

. (your sister write) ... ... to you yet?

. I (have) ... ... a headache ever since lunchtime.

Nadia (never see) ... ... any Chinese films.

Someone (steal) ... ... Mr Grant’s.

The passengers are tired because they (not sleep) ... ..: al\night.
I’'m afraid we (just break) ... ... your window. Sorry!

David (not, win) ... ... a prize this time, I'm afraid.

(you ever eat) ... ... Spanish food? It's great.

ONoOGORWNE

ll. Put a time word or phrase from the list into each Space.

yet  for  since often ever
never already so far just always

Model: Carlos has lived in the city centre since 1996.

1. Thanks for the present! I've .{A\.... wanted a pet goldfish!

2. Haveyou ........... drunk pineapple juice? It's fantastic!

3. I've.o heard,some fantastic news! I've passed my exams!
4. Hurry up! Haven't yod finished ................ ? You are a slow-coach!

5. Nina has worked in this company ............... five years.

6. I've ............. beén‘on a big ship before. It's an interesting experience!
7. We’'re very busy today. ............. we’ve sold over a hundred bikes.

8. I've.........LA passed this building, but this is the first time I've been
inside.

9. Can l.have a different book? I've ............... read this one.

lll. Complete the second sentence so that it has a similar meaning to the first
sentence.
Model: We started working here three years ago.
We have worked here for ......... three years.
a) This is the first time I've been on a plane.
L before.
b) That's strange! My pen isn’t here!
That's strange! .........ccooiii i, disappeared!
c) Nicky and Jan aren’t at this school any more.
Nicky and Jan ...........ccoooviiiiiiiiiii e e, this school.
d) I saw a friend of yours a few moments ago.



[ a friend of yours.

L, my letters yet.
f) Is this your first visit to South America?

Have .....ccooviiii before?
g) Oh bother! My wallet is still in the car.

Ohbother! | ..., my wallet in the car.
h) It's a long time since we spoke to your sister.

WeE to your sister for a long time.
1) Is Anna still asleep?

Has oo up yet?

I\VV. Choose the correct word or phrase underlined in each sentence.
Model: While | had waited/was waiting/waited at the bus:*stop, | had
noticed/was noticing/noticed a new shop which wasn't/had not been in
the street the day before.

1. | had gone/went out into to the garden todetch my bike, but found/was
finding that someone stole/had stolen.it.

2. When George met/was meeting Diane'for the first time, he knew/was
knowing that he met/had met/was\meéeting her somewhere before.

3. Helen got off/was getting off the\bus, and walked/was walking into the
bank when she realized/had realized/was realizing that she left/had
left/was leaving her handbagon the bus.

V. Put each verb given into past simple, past continuous or past perfect. More
than one answer may be possible. The first answer (a) is given for you.
The police suspected that Brian (a) had broken (break) the window at his

house because he(b) .................. (want) to make them think that a burglar
(o) I (steal) his valuable stamp collection. They (d) ..................
(think) that-Brian (€) .................. (do) this because he (f) ..................
(need) the money. However, they (Q) .................. (not know) that Brian (h)
.................. (fly) to Brazil the week before, and (i) ..................( be) abroad
when the burglary () .................. (take place).

VI-*Complete each part sentence “a” to“ g” with one of the part sentences 1 to
8. More than one answer may be possible.
Model: As soon as | hear from Helen, 6.

a) By the time Mary arrives .....

b) Please take a seat .....

c) This time next week .....

d) Next time you see me .....

e) We'll have time to have some lunch .....



f) In a few moments ......
g) There won’'t be any more lessons .....

1) until the dentist is ready.

2) the match will be over.

3) I'll have had my haircut and you won’t recognize me.
4) 1t will have stopped raining.

5) Before the train leaves.

6) I'll ask her to phone you.

7) Until the teachers’ strike is over.

8) We'll be enjoying ourselves on holiday.

BpemeHa rpynnsl Perfect Continuous

[naronbl 3TOW rpynnbl BblpaXalT AEeNCTBUSA, KOTOpble: a) Hadanucb
paHblLEe YKa3aHHOro MOMEHTa B HAcCTOsILLEM, NpollealieM nnu dygyuem u
NpodoSPKalT coBepllatbCA MNocrne 3Toro MOMeHTa; ©) cosepLuanuch
HEKOTOPbIN OTPE30K BPpEMEHN 0 onpeaerieHHOMQ“MOMEHTA.

BpemeHna rpynnbl Perfect Continuous (coBepLlUéHHbIE ONUTESbHbIE)
obpasyloTca € NOMOWbLK  BcrnoMmoratrenoHoro rnarona to be B
cooTBeTcTBYlOLLEM BpeMeHU (Present Rerfect, Past Perfect, Future Perfect) n
YyeTBEepTON POPMbI CMbICIIOBOrO rnaroena.

CnpsixkeHune rnarosios rpynnbel Perfect Continuous

Present Perfect Continuous { Rast Perfect Continuous | Future Perfect Continuous

YTBepautenbHasa dopma

| have } been writing | had been writing the I shall have been
He has the letterfor letter for an hour when he | He will writing the letter
an hour: came. for an hour when
he comes.
A 6ydy nucamb nucbMo (yxe)
A nuwy nucemo (yxe) yac. A nucan nucbmo (yxe) yac, koeda oH ripudem. (OH
(OH nuwem3..) yac, ko20a OH rnpuuwern. b6ydem nucams ...)
BonpocutenbHas hopma
Have\l } been writing Had | been writing the Shall | have been
Has“he the letter for letter for an hour when he | Will he writing the letter
an hour? came? for an hour when he comes?
OTtpuuatenbHasa opma
| have } not been | had not been writing | shall not have been
He has writing the the letter for an hour when | He will writing the letter
letter for an he came. for an hour when
hour. he comes.
(I shan't ..., He won't ...)
(I haven't ..., He hasn't ...) (I hadn’t ...)




PacnosHaBaTtenbHble anemMeHThl rpynnbl Perfect continuous:

1. Present Perfect Continuous.
BoipaxaeT gnutenbHoe AencTBne, KOTOPOe Havarnoch B MPOLUSIOM U eLle
COBepLUaeTCs B HACTOsILLEE BPEMSI.
Bcerga ykasaH nepuog Bpemenu: for an hour (B TeyeHme vaca), for a long
time (monroe Bpems), since five o’clock ( ¢ naTn 4acoB) 1 T.4., KpOMe TOro,
BblpaxkaeT AnuTenbHoe AeNCTBUe, KOTOpoe Havyarnochb B NPOLUIIOM U
3aKOHYMIOCb Nepes MOMEHTOM peYn.

2. Past Perfect Continuous.
BblpaxaeT anutenbHoe npoweallee OeNCTBME, KOTOPOE Ha4vyanochb paHee
Apyroro npowlelero 4eNCTBMS N BCE eLLe NMPOUCXOOaNT B MOMEHNT ero
HaCTYMMEHUs NN 3aKOHYNITOCb HEMOCPEACTBEHHO NEPeSMOMEHTOM
HaCTYNneHus Apyroro npoLleaLlero 4enCcTBus.
Mepuopg aencteums MoxeT ObITb YkasaH: for two hours.(B.TeyeHne aByx
yacos), for three months (B TedyeHne Tpex mecsaues), for a long time
(gonro, gasHo) n T.4. B ToM cnyvae, korga oenctBre 3aKoOHYMOCh,
nepuon MoXeT BbITb N HE yKa3aH.

3. Future Perfect Continuous.
BolpaxkaeT anutenbHoe byayuiee AenctBme, KoTopoe HaunHaeTCca paHee
apyroro 6yaywero aenctems n byaeT elue coBepLllaTtbCa B MOMEHT €ro
HacTynneHus. 3To BpeM4a yrnotTpebnaerca odeHb peako.

|. Choose the correct word or phrase underlined in each sentence.
Model: | live here/l have lived here since the end of last year.

Someone has just stolen/has just been stealing my bicycle.

I’'m afraid the last’train left/has left an hour ago.

Yesterday | lost/have lost my wallet.

Thank you for your offer, but |'ve decided/l decided not to accept it.

Take your'umbrella with you. It's started/It started raining.

We’'re enjoying our trip. We have visited/visited two countries so far.

I'm.standing here/l've been standing here for hours and | feel tired.

This'has been/was a busy day and it isn’t over yet!

Iieel really tired. We went/have been to a party last night.
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II.))Complete each mini-dialogue, using the verbs given, in either present
perfect simple or present perfect continuous.
Model: A: “Terminator 2" is on at the “Rex”?
(you see) Have you seen it?
B: No, not yet. Shall we go? | (look forward) am looking forward to

seeing it.
1) A: What's the matter? You look really tired!
B: I am! | (study) all day, and I (not finish) yet.

A: Oh well, time for a break.
2) A:l (phone) Carol all day, but there’s no reply.



B: | expect she (go) swimming with her friends.

3) A: (you hear) the news?
B: What news?
A: Someone (rob) the bank at the end of the road.
4) A: Why is your leg in plaster?
B: That's a silly question! | (break) it, of course.
A: Someone (write) “Time for a break” on the plaster!

lll. Complete the second sentence so that it has a similar meaning to the
first sentence.
Model: | came to live here three months ago.
| have been living here for three months.

1. Mary is out at the shops at the moment.

Mary to the shops.

2. | have had French lessons since March.
I French since March.

3. I’'m still reading this book.

I reading this book yet.
4, Paul left the room a moment age.
Paul has the room.
5.  Ten of the letters are ready:
I ten letters so far.
6. It's ages since | last went to the cinema.
I to the cinema,for ages.
7.  This is the first time T've eaten snails.
I shails before.

8. | don’t remember Helen’s phone number.
| have Helen’s phone number.

9. David has a different opinion now.
David his mind.

I\V. Answer the questions according to the model:
Have you been staying here long? (for a month)
|_have been staying here for a month.

1. Has he been talking about his plan long? (all these days) 2. Have
children been swimming long? (for half an hour) 3. Have they been working in
the garden long? (since 100‘clock) 4. Have you been watching TV long? (for
two hours) 5. Has he been sitting here long? (for a long time) 6. Have you
been looking for the book long? (the whole day) 7. Had it been raining long?
(for a week) 8. Has it been snowing long? (since yesterday) 9. Have you been
translating the article long? (for three hours) 10. Have you been working
long? (since early morning)



V. Read the situations and make sentences from the words in brackets.
Model: | was very tired when | arrived home.
(I/'work/hard all day) | had been working hard all day.

1) The two boys came into the house. They had a football and they
were both very tired.
(they/play/football)
2) There was nobody in the room but there was a smell of cigarettes.
(somebody/smoke/in the room)
3) Ann woke up in the middle of the night. She was frightened and didn’t
know where she was.
(she/dream)
4) When | got home, Mike was sitting in front of the TV."He.had just
turned it off.
(he/watch/TV)

VI. Read the situation and complete the sentences:
Model: We played tennis yesterday. Half an hour after we began
playing, it started to rain.
We had been playing for half an heur when it started to rain.
1. I had arranged to meet Tom in a restaurant. | arrived and waited for him.
After 20 minutes | suddenly realized.that | was in the wrong restaurant.
I for 20 minutes'when |
2. Sarah got a job in a factory. Five years later the factory cIosed down.
At the time factory , Sarah there for
five years.
3. | went to a concert last week. The orchestra began playing. After about ten
minutes a man in the.audience suddenly began shouting.
The orchestra when
4. This time make yoeur own sentence: | began walklng along the road.
I when

VII. Putthe verb into the most suitable form, past continuous (I was
doing);

past perfect (I had done) or past perfect continuous (I had been
doing).
Model: It was very noisy next door. Our neighbours were having (have) a
party.
Model: We were good friends. We had known (know) each other for a long
time.
1. John and | went for a walk. | had difficulty keeping up with him because
he (walk) so fast.
2. Mary was sitting on the ground. She was out of breath. She
(run).




3. When | arrived, everybody was sitting round the table with their mouths
full. They (eat).

4. When | arrived, everybody was sitting round the table and talking. Their
mouths were empty but their stomachs were full. They (eat).

5. Jim was on his hands and knees on the floor. He (look) for his

contact lens.
6. When | arrived, Kate

time.
7. 1 was sad when | sold my car. |
time.

(wait) for me. She was rather annoyed
with me because | was late and she

(wait) for a very long

(have) it for a very long

8. We were extremely tired at the end of the journey. We

(travel) for more than 24 hours.

["naron to do

(to do —

did — done)

CuvHTakcmyeckast pyHKLUS U
3HayeHue

Blpnmep n nepesof

1

2

1. CMbICNIOBOW rnaron: «aenartby,
«MNPOBOANTLY, «BbINOMHATLY,
«coBepLaTb.

An‘electric motor does mechanical
work.

OneKTpuyecknn MoTop cosepLuaeT
paborTy.

2. BcnomoraTenbHbIn rnarof:

a) ons obpasoBaHUA BONPOCUTERBHOM U
oTpuuaTtensHon gopm B Present, Past
Indefinite;

6) A5 0BpasoBaHUsA oTpuUaTENBHON
G OpPMEI IOBENUTENBHOIO HAKNOHEHWS;

B) ANsl yCUNEeHWsi 3Ha4YeHus rnarona —
cKasyemoro.

- Do you know how to use this
device?

- Yes, | do. — Bbl 3HaeTe, Kak
nonb3oBaTbCs 3TUM Npubopom? —
[a.

- Did you see this film yesterday?

- No, | didn’t. — Tl BUAen atot
dounbm BYepa? — Her.

Don’t use this tool, it is broken. He
nonb3yncs aTMM pesLoMm, OH
CITOMaH.

Only then did he understand his
mistake. TonbKo TOrAa OH NOHSMN
CBOIO OLLNOGKY.

We do realize what great importance
this discovery has for the future
work. Mbl genctBmutTenbHo
NOHMMaEM, Kakoe OrpoMHoe
3Ha4YeHMe UMEeET 3TO OTKPbITME ANS
Hawen 6yayuien paboThl.
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3. Mnaron — 3amectuTenb (BO The last experiments gave us much
n3bexaHne NOBTOPEHUS better results than did the previous
CMbICITOBOrO rrarona). ones.

[MocnegHme akcnepuMeHTLI ganu
HaMm ropasgo nyywume pesysnbTaThl,
yeM npegbigyLuime.

Unit IV
Data Transport and Means of Communication
Vocabulary Study

Word List
Nouns and noun phrases
1. aerial - aHTeHHa
2. application - nporpamma; nNpUuMeHeHune
3. availability - HanM4neMOTOBHOCTb
AaHHbIX
4. bandwidth - LWWMPUHA'NOMNOCHI YacToT
5. bursts of light - BCMbILLKM CBETa
6. capacity - €MKOCTb, 06BEeM
7. compression -\cKaTve JaHHbIX
8. consumer - noTpebutens
9. core - cepaueBuHa, kuna Kkabens
10. fiber - BOJTOKHO
11.limitation - OrpaHuyeHune
12. link-up - coeanHeHue, CBS3b

13. medium (pl.media)
14. mode

15. range

16. rate

17. strand_ of hair

18. transport

19. trunk line

Verbs and verbal phrases

- cpeacTBo, cnocob

- MeToA, crnocob

- AnanasoH, npeaen
TeMmr, CKOPOCTb

nNpsab BONOC
nepenaya (gaHHbIX)
MarnctpanbHas NMMHUs

1) explode BHe3anHo 1 BbICTPO pa3BUBaTLCA
2. handle obpabaTtbiBaTb

3. increase BO3pacTaTb, yBenuinsaTtb(cs)

4. launch 3anyckaTb

5. multiply yBenMumMBaThb(Cs); YMHOXaTb

6. relay nepegasaTb (ganbLue)

7. transmit nepenasaTtb

8. utilize ncnonb3oBaTb



Adjectives and adverbs

1. assorted - NoAxo4sLinn, COOTBETCTBYHOLLINN
2. currently - B HacTosLee BpeMS

3. digital - uudoposon

4. du jour - (dppaHu.) coBpeMEHHbIN

5. internal - BHYTPEHHUM

6. wireless - 6ecnpoBOfOYHbIN, paguno-

l. Read and translate the following words. Arrange them into the groups: a)
with one stress or stress on the first syllable; b) with the stress on the
second syllable; ¢) with two or more stresses.

Storage, capacity, media, availability, rate, device, trunk™line, satellite,
telecommunications, demand, transport, wireless, acc¢ess, information,
limitation, fiber-optic cable, application, bandwidth,) "consumer, core,
transceiver, towards, link-up, decompression, handle, standard, button,
increase, range, consider, burst of light, analog, telephone call, data, digital,
relay, launch, site, copper wire.

[I.Match the words on the left with the definitions on the right.

1) aerial a) apparatus for.sending out radio/TV signals.
2) transport b) readiness to\be used.
3) currently c) to makewdse of something.

4) communicate  d) deviee(for sending or receiving radio or
television signals.

5) availability e).strong material made of woven threads of
6) utilize glass.
7) fiberglass f) to move from one place to another.
g) to pass information to someone/to be in touch
8) transmitter with someone.
h) at the present time; frequently.
[ll.  Choose:
a) a noun

a) apply; b) application; c) applied; d) applicable.

a) transmitted; b) transmissible; c) transmit; d) transmission.

a) compressible; b) compress; ¢) compression; d) compressed.

a) communicative; b) communicable; ¢c) communication; d)communicate.
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b) a verb

a) multiply; b) multiple; ¢) multiplier; d) multiplication.

a) difference; b) different; c) differential; d) differ.

a) transportation; b) transportable; c) transport; d)transporter.
a) informative; b) inform; c) information; d) informer.
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c) an adjective
1. a) solve; b) solvency; c) solvable; d) solvability.
2. a) access; b) accessible; c) accessibility; d) accession.
3. a) breakable; b) break; c) breaker; d) breakage.
4. a) normalize; b) norm; c¢) normal; d) normality.

d) an adverb
1. a) light; b) lighter; c) lightness; d) lightly.
2. a) close; b) closing; c) closely; d) closeness.
3. a) high; b) highly; c) higher; d) highness.
4. a) increase; b) increasing; c) increased; d) increasingly.

I\V.Define the meaning of the “x” words. Convert: conversion =
=npeBpawaThb: X. (rnaros: CyLecTBUTENBHOE)
1) transmit: transmission = nepegasaThb: X.
2) limit: limitation = orpaHn4nBaTb: X.
3) compress: compression = CXumaTb: X.
4) apply: application = npuMeHATb: X.
5) provide: provision = obecneunBaTtb;!X.
6) compute: computation = BbIMUCNSTL: X.
7) connect: connection = COeauHATE: X.
8) reflect: reflection = oTpaxars: X.

V. Make adjectives from the following nouns by adding the suffixes: -al, -
ible, -ful, -less, -able and translate them into Russian.

Access, medium, use{ wire, wonder, digit, transport, limit, break, norm,
form.

VI.Arrange the words with similar meaning of the two groups in pairs.
a) device, transport, currently, apply, data, process, media, rate, link-up
b) utilize, means, apparatus, speed, handle, connection, transmit, at present,
information,

VII. \“Match the words with their opposites.

a) wire 1) decrease

b) ability 2) external

C) common 3) unlimited

d) compress 4) disability

e) limited 5) unnecessary
f) increase 6) wireless

g) necessary 7) uncommon

h) internal 8) decompress



VIIl. Match the verbs from “a” with the nouns from“ b”.

a) transport b) letters
launch button
increase principle
click on data
reflect network
exchange satellite
develop light
base on speed

IX.Complete the sentences with the words given below.

1. The telecommunications age increases ... for greater.bandwidth and
more storage capacity.

2. There are different methods of ... such as telephone lines, wireless
communications, etc.

3. Communications satellites ... a worldwide link-up of radio, telephone
and television.

4. The transceivers ... information to each ather via radio signals.

5. The ... transmission is based on the principle of total internal reflection.
6. In fiber-optic cables information is carried in the form of ... bursts of
light.

7. The Internet contains assorted jmedia, computers and ... .

8. Limitations exist in every .../of transport a user chooses.

Relay, mode, digital, the demand, applications, fiber-optic, provide, data
transport.

X. Translate into English.

1. PaguonHgycTtpya“ctana ObICTPO pa3BMBaTbCs MOCe 3arnycka nepBoro
CMYTHMKA CBSI3M.

2. TenedaoH #camoe pacnpocTpaHeHHOe CPeacTBO CBA3M.

3. BonokoHHO-onTHMYecknn kabenb obecrneunBaer 6ornee BbICOKOE
KayecTBO nepeaayvn nHdoopmMauum, a Takke yBerimdeHmne CKOpOCTM.

4. YNCAO nNOCTOSIHHLIX Nonb3oBaTtenien WIHTepHeTa yBenuyMBaeTcs
KakabIn OeHb.

5.'Bblbupasa cpeactBo nepedadn faHHbIX, HY)KHO YYUTbIBATb Hanunyune
LLUMPUHBbI NOSIOCbI YacToT.

6. PasnuyHble nporpammbl TpebylOT COOTBETCTBYHOLUMX AMana3oHOB
LLUMPUHBbI NOSIOCbI YacToT.

7. NepcoHanbHblE  KOMNbIOTEPbI U akcbl  CYMTaANUCb  HOBbLIMU
TexHonornamm B 1980-x rogax.

8. BonokHo obnagaeT NoYTU HEOrPaHNYEHHOW LUMPUHOM NOSOChI YacToT.



A. Text Study

a. Look at the title. What do you think this reading will be about?
Read the text and define its main idea.

Text A

DATA TRANSPORT THROUGH A SPEEDY WORLD

One hundred years ago people communicated exchanging letters, fifty
years ago it was a telephone call, and in the 1980s personal computers and
fax machines were the technology du jour (coBpemeHHas)). In the
telecommunications age, the demand for greater bandwidth,“more storage
capacity, and accelerated data transport speeds is increasing faster than you
can click on your send button. When choosing a transpartimedium you should
consider the amount of bandwidth that is guaranteed\(bandwidth is the ability
to transport data). Different ranges of bandwidth ‘are’ necessary for different
applications.

The most common methods of data transport are telephone lines,
wireless communications, the Internet and fiber optics. A standard telephone
line can only handle 56k (one k = 1000, bits); most standard wireless systems
can give 10Mb of bandwidth. Today's highest speed on the Internet is
45Mb/sec on major trunk lines, and. most Internet users access the Web at
around 56K. Fiber has closed to, unlimited bandwidth and can be broken up
into many streams of light carfying 194 Mb.

Since the early 1960s*when the first communications satellite was
launched, the satellite aetial/wireless industry has exploded. Communications
satellites provide a worldwide link-up of radio, telephone and television.

The wireless, system consists of a receiver and transmitter located at
each end of the, cOnnecting sites. These transceivers relay information to
each other viasadio signals.

Telephone line is the most commonly used communications device.
With today,s” transmission of video and data, a standard telephone line has
only enough bandwidth to transmit 56 k data and either analog or digital
voice~~In order to transmit video over telephone lines, a CODEC (a
compression / decompression device that breaks up the video and data into
packets) is required.

As digital trend grows, copper wire utilized for long distances has been
replaced by glass cables as thin as strand of hair. Fiber-optic cable offers
increased call-carrying capacity, higher speed, and greater transmission
guality. The fiber-optic transmission is based on the principle of total internal
reflection. Light travels inside the core of the fiber and reflects any light trying
to escape from the core. Fiber-optic cable carries information in the form of



digital bursts of light, at data rates that are thousands of times greater than
those of normal phone lines.

The Internet is a network that contains assorted media, computers, and
applications. Today the Internet is over-utilized and bandwidth is limited. As
the number of online users multiplies, the amount of space on the Web and
the bandwidth availability decrease.

Internet Il, a higher speed network currently being developed, may go a
long way towards solving these problems.

No matter which mode of transport a consumer chooses, limitations
exist in every one of them. It is important to understand how to get the most
from a chosen medium.

Il. Read the text again carefully and answer the questions.
1. How did people communicate before the ,advent of personal
computers and fax machines?

What requirements are increasing in the telecemmunications age?

What should you consider when choosing-a‘mode of transport?

What methods of data transmission do you’know?

Why has wireless industry exploded.since 1960s?

What is required to transmit video over telephone lines?

What has been replaced by glass‘cable?

What beneficial effects does,fiber-optic cable have?

What principle is the fiber-optic transmission based on?

10. Why is the Internet over-utilized?

11. What is Internet 11?

12. Is there a transportimedium without any limitations?

©ooNOOhWN

lll. Which of the voecabulary units used in paragraphs 1-2 could be regarded
as international words?

IV. Read the\translation of the sixth paragraph. Compare it with the original
and say if.everything is right.

C- HosBrNeHneM UMNPPOBON CBSA3N UCMOSb30OBaAaHME MeOHOro nposoaa
Ansa nepejavn faHHbIX Ha ONM3KMe pacCTosiHUA 3aMeHUNM BOSTOKOHHbLIMMU
KabenaMn TOMWIKWHOM B 4enoBeveckun naneu. bnarogaps npuMeHeHuro
BOMOKOHHOro kabens ysenuyuncs obbem nepefaBaeMblX 3BOHKOB, CKOPOCTb
N Ka4yecTBO nepenavn. BonokoHHo-onTMYeckas nepegada  WH@opmauyum
OCHOBaHa Ha nNpuHUMMNE YacTUYHOro BHELWIHEro oTpaxeHusi. Caer
nepemeLlaeTcss no BOSIOKHY W OTpaxaeTca npu MonbiTKe BbIATU 3a ero
npeaensl. BonokoHHO-onTU4eckMn kabenb nepegaet mHgopmauumo B BuOe
MMMYNbCOB B ThiCAYYy pa3 ObiCTpee, YeM CTaHAAPTHbIE TENEMOHHbLIE NINHUMN.



VI .Find the English equivalents of the following words and word
combinations in paragraph 6.
NepemaBatb MHGOpMaUUO, UCMNOMNL30OBATb, BOJIOKOHHO-OMTUYECKUIA
kabernb, UMCPOBOM, BCMbIWKMA CBETa, CepAueBMHa OMNTUYECKOro BOJIOKHA,
yBeNu4MBaTb, OCHOBLIBATLCA Ha YeM-NMbO, OTpaxeHue.

V. Find the passage about data transmission over telephone lines and
translate it into Russian.
VIl .Choose a passage and read it aloud (1-2 minutes).
VIIl.Find complex grammar structures in the text and divide them, into simple
ones.
IX. Find out the subject-matter and the means of its secondary’expression.
e.g. Betty has a temperature. Give her some tablets.
X .Find key words, phrases and the topic sentences,'which express the
general meaning of each paragraph best of all.
XI. Using the information obtained from the paragraphs make a plan of the
text.
XlIl.Speak about various transport media available, their limitations and
benefits using key words, phrases, the topic sentences and the plan of the
text.

B. Text Study

|. Look at the title of the text. Make‘your predictions about the content of it.
Read the text and answer the guestions.
1. What is radio communication?
2. What are the main components of radio?
3. What is the difference between radio waves and other waveforms?

Text B
RADIO COMMUNICATION

Radio communication is the transfer of high-frequency energy from the
transmitter to the receiver without wires.

Radio is a device that transmits and receives signals and programs by
glectromagnetic waves. Since the process of radio communication includes
transmission and reception of signals, the necessary components of radio are
a transmitter and a receiver.

The transmitter is a device that produces radio-frequency energy. The
main parts of a transmitter are a high-frequency oscillator including an
oscillatory circuit and one or more amplifiers. In modern transmission electron
tubes are used to amplify currents and give greater transmitting range and
better reception.



The receiver is a device that receives waves sent out by a transmitter.
Radio receiver demodulates the waves and they are heard as speech, music
and signals.

Electric oscillations are produced in the antenna of the transmitter. They
travel in all directions.

Radio waves are electric waves of very high frequency; they travel
through space at the speed of light. They differ from other waveforms only in
frequency (number of vibrations per second).

Il. Read the text and define whether the following statements are true or false.
1. Radio communication means the transfer of high-frequency-energy along
the wires.

The main components of radio are a transmitter and a_receiver.

The transmitter consists only of some amplifiers.

Radio waves are low-frequency electric waves.

Radio waves differ from other waveforms in wavelength.

abkwn

lll. Expand the sentences.

1. Radio communication is a communication!without wires.

2. Radio is a device for transmitting and receiving signals and programs by
electromagnetic waves.

3. A transmitter and a receiver are the main elements of radio.

4. Radio waves are electric waves of*very high frequency.

IV Now decide which of the“following statements express important ideas or
supporting details for this, reading.
1. a) Radio is aldevice that transmits and receives signals by
electromagneticavaves.
b) The process of radio communication includes transmission and
receptionfofi.signals.
c) The necessary components of radio are a transmitter and a receiver.
2. a) JIhe ‘Yreceiver is a device that receives waves sent out by a
transSmitter.
b)-Radio receiver demodulates the waves.
c) Demodulated waves are heard as speech, music and signals.
3.™ a) Radio waves are electric waves of high frequency.
b) The travelling speed of radio waves through space is equal to the
speed of light.
c) Radio waves differ from other waveforms in frequency.

V. Find the words — carriers of the primary and the secondary information in
paragraph 3.

VI. Define the function of commas in the text.



VII. Find out the means of connection between clauses, parts of the sentence
and sentences.

VIII. Arrange the sentences in the logical order according to the text.
1. In up-to-date transmission electron tubes are utilized to amplify
currents.
2. Radio waves travel through space at the speed of light.
3. The main parts of the transmitter include a high-frequency oscillator and
one or more amplifiers.
4. Radio communication is the transfer of high-frequency energy without
wires.
5. The waves are demodulated by radio receiver and heard”as speech,
music and signals.

IX. Give the main points of the text in 4-5 sentences.
C. Text Study
|. Translate the text into Russian.
Text C
TELEGRAPH

Benjamin Franklin, an Ametican who is famous for his interesting and
useful inventions, published his_deas about electricity in 1752. Scientists in
many countries became intetested in this wonderful form of energy. They
wanted to find the answer 10 a very important question: could the electricity
be used to develop afast, efficient system of long-distance communication?
Experiments proved, that electricity could travel instantly over a very long
piece of wire. But a-note that was written on a piece of paper couldn’t be put
into a wire. Howrcould electricity be used to send a message? A Danish
scientist diSeovered that electricity could move a needle from left to right and
that the meedle could be pointed at letters on a piece of paper. Then a
Germamgovernment worker made up a code system that could be used with
an electric needle. In 1837 two English scientists sent a message by electric
telegraph for a distance of more than 1.6 kilometers.

Samuel Morse, an American portrait painter, was experimenting with an
electric telegraph too. At first he connected a pencil to an electric wire. When
the electricity came through the wire the pencil made wavy lines. Then Morse
invented a code that used dots and dashes for the letters of the alphabet.
Finally, he discovered that telegraph messages did not have to be written,
they could be sent in sound.

On May 24, 1844, the first long-distance message was sent by
telegraph for 64 kilometers.



Telegraph companies were formed in many cities. By 1861 telegraph
wires stretched from the Atlantic to the Pacific. In Europe too, Samuel
Morse’s system became popular.

But telegraph wires couldn’t be hung over an ocean. Messages to and
from Europe had to be sent by ship — a journey of two or three weeks. A new
method was needed.

The Atlantic Telegraph Company which was organized in 1856 wanted
to try to lay a cable on the floor of the Atlantic Ocean.

The 4,000-kilometer cable broke three times. Each time a new cable
had to be made. Finally, on July 27, 1866, the first transatlantic message was
sent from Newfoundland to Ireland.

Later cables were laid to Asia and Australia. At last news,and business
information could be sent instantly to almost every country.in the world.

Grammar Study

The Passive Voice
OnpepgeneHne
CkasyemMoe, BblpaXkeHHOoe rnarosioMm B cIpagaTtenbHOM 3arnore, ykasbiBaeT
Ha TO, 4YTO [OEeNcTBMe coBepllaeTcs\ Hag npeamMeToM, BblpaXkKeHHbIM
nognexatuum.

Ob6pasoBaHue
CtpagatenbHbin  3anor o6pa3yetcsa npu MOMOLWM BCNOMOraTesnbHOro
rnaronia to be B cooTBercrBytoLLeM BpemMeHn 1 Participle || cmbicrioBoro
rnarona.

|. Cuctema rpaMmmaTMyecknx BpeMeH B CTpagaTeribHOM 3arnore
(English Tenses in the Passive Voice)

Simple Continuous Perfect Perfect
Continuous
1 2 3 4
Infinitive To help To be being | To have _
helped been helped
Present My friendis | My friend is | My friend
always being helped | has already
helped with | with his been helped
his composition | with his _
compositions. | now. composition.
Moemy gpyry | Cenyac Moemy apyry
BCcerga MOeMy ApYyry | y>e noMornu
nomoratoT nomoratoT HanucaTtb
nucaTb nucaTb COUYUHEHME.
COMMHEHUNSA. | COMUHEHME.




1 2 3 4
Past My friend My friend My friend
was helped was being had been
with his helped with | helped with
composition | his his
yesterday. composition | composition
Buepa for 2 hours before his
MOeMy Opyry | yesterday. mother came _
nomornu Buepa home.
HanucaTb moemy apyry | Moemy gpyry
COYMHEHME. | noMoranu nomornu
nucartb HanucaTb
COYMHEHNE | COMUHEHME
ABa vaca. A0 npuxogda
MaMmbl,
Future My friend will My friend will
be helped have/been
with his helped with
composition his
tomorrow. _ composition _
3aBTpa by 4 o’clock.
MoeMy Apyry Moemy apyry
nomoryT nomoryT
HanucaTb HanucaTb
COYMHEHWE! COYMHEHNE K
4 yacam.

II. Cnocobbl nepeBoda Fnarona-ckasyemoro

a) coueTaHMeM rnarona «obITb» C KpaTkon dOpMON NpunaraTenbHOro
cTpagaTenbHoro 3anora. [naron «6biTb» B HACTOSILLEM BPEMEHN HE
nepeBoAuUTbLCA:

This church was built in 1815. 3Ta uepkoBb Oblfla NOCTPOEHA B

1915 roay.

0) rnaresnioMm HecoBepLLUEHHOro Bnaa, OKaHYMBarLLMMCS Ha —CSl, -Cb:

The‘conference is held in April every  KoHepeHuna npoBoanTca B anpene

year. KaXKoro roga.

B) HeonpeaeneHHo-NMYHON hopMOoN rnarona B 4ENCTBUTENBLHOM 3anore B
TPETbEM NULIE MHOXXECTBEHHOIO Yncna (Npu OTCyTCTBMU OENCTBYIOLLETO
nmuya):

At our faculty students are trained in Ha Hawem dgakynbTeTe CTy4eHTOB
four specialities. oby4aloT no YeThbIipem
cneumanbHOCTAM.




r) NUYHOW chopMoW rrarona B 4ENCTBUTESNIbLHOM 3arore (Npu Hanndme

AornonHeHusa ¢ npeanorom by) [lononHeHwe ¢ npeanorom by yacTto
nepeBoaMTCSA Ha PYCCKUI SA3bIK NOAMNEXALLMM:

America was discovered by Konym6 oTKpbInm AMepuKy.
Columbus.

MpumeyaHus:

1. B aHrnumnckom a3bike CyLecTBYyeT psig rnarosioB, KOTopble TPebyoT
NPSIMOro AOMNOSTHEHUS!, T.€. ABMAOTCS NEPEXOAHLIMU, B TO BPEMS Kak
COOTBETCTBYHOLLME rNarosibl B PYyCCKOM S3blKe ABNSAKTCA HENEPEXOAHbIMM.
Takne rnaronbl NepeBoaATCA rnarofiamMmu ¢ Nnpeanoramu.
to follow — cnegoBatb (3a)
to address — obpawaTbes (K kKomy-rmbo)
to influence — BnuaTb (Ha)
to attend — npucyTtcTBoBaTh (Ha)
to affect — BnuATL (Ha)

n ap.
Yesterday the lecture was attended Bu4epa Ha fnekunn NpUCyTCTBOBANU
by a few students. HEeCKQIILKO CTYEHTOB.

2. HekoTopsble rnaronbl MOryT UMeTb ABa aObeKTa. [pumepamm Takmx
rnarosioB siBnAtoTCcA include, buy, give, land, offer, promise, sell, take,
promise, send.

CywiecTtBytoT 2 cnocoba ynoTpe@sieHmst aTux rnarofoB B cTpagatefibHOM
3anore:

a) Karen was given a present by Peter;

b) A present was given tg"Karen by Peter.

3. BuipaxeHue to be born - ‘\dopma cTpagaTensHoOro 3anora, Ho He MeeT
Ha caMOM Jere 3HaYeHna cTpagaTtesibHoro 3anora.
| was born in Uruguay. A poouncsa B Ypyraae.

4. Have somethingudone
- Mbl ynoTpebnsiem BbipakeHne Have something done, korga
obcnyxmnearLLmin nepcoHan (Hanpumep, NNOTHUK, MEXaHWK 1 Ap.)
BbINOSHSAET [N Hac Kakon-nnodo sua pabor.

- HavelmoxeT ncnonb3oBaTbCA B JIO60OM BpeEMEHM.
We had our houses painted last year.
I’m having my car serviced tomorrow.
P've had my room decorated.
5. - Mol Takke ynotpebnsem Have something done, koraa nponcxogut

HenpusaTHoe cobbITHe.
She had house broken into.
Tim had his arm broken playing rugby.

[ll. Cnocobbl nepeBoga noanexawlero
[Moanexallee aHrMMNCKOro NPeanoXeHnsa co ckasyeMblM B CTpagaTesibHOM
3arore Ha pyCCKui s13blk NEPEeBOANTCS:



a) cywecTBUTENbHBbIM (MU MECTOMMEHUEM) B UMEHUTESIBHOM UM
BUHUTENbLHOM Nagexax (Korga nocrne ckaszyemoro CTOUT KOCBEHHOE MNnu
npeanoXxHoe AoNosHeHne):

A parcel has just been delivered to Mrs. Green.
[Mocblika 6bla TOMbKO YTO AOCTaBEHA, MUCCUC [PUH.
[MOCbIIKY TONMLKO YTO 4OCTaBunun, Mmuccuc I puH;

6) cywecTBUTENbHBLIM (MECTOMMEHMEM) B JaTeSIbHOM nagexe (koraa
nocne ckaszyemoro CTouT npsimoe AoMNosHEHWE):

We were brought the bill. Ham npuHecnu cyer;

B) Npeasiorom, CTOSILMM MOCHe rnarona B cTpagaTenbHOM ganore v He
OTHOCALIMMCS K cregylowmm 3a HUM crioBam; Npu nepesoe, Ha pyCCKui
A3blKk CTABUTCS Nnepen TEM CrIOBOM, KOTOPOE B aHIMUMCKOMsA3biKe siBnsaeTcs
NnoaneXaLlnMm:

He is often spoken about. O HeM 4acTo roBopsr.

l. . Complete each sentences with a passive verb and,translate it into
Russian.
1. The police questioned George. — George/was guestioned by the police.
2. Millions of people watch this programme. = This programme by
millions of people.
3. They will finish our new house at the‘end of the month. — Our new
house at the end of the month.
4. They have elected a new president. — A new president
5. They are rebuilding the damaged stadium. — The damaged stadium

6. They have closed the mountain road. — The mountain road

7. Students write mast)of this magazine. — Most of this magazine by
students.

8. A burglar stole my television. — My television by a burglar.

9. Somebody/will meet you at the bus-station. — You at the bus-
station.

10.United won the cup last year. — Last year the cup by United.

II. Underline the errors in these sentences. Rewrite each sentence and
translate it into Russian.

Many pet dogs are losing every year. — Many pet dogs are lost every year.
The ill man was been taken to hospital.

A new bridge is be built across the river.

All the food at the party was ate.

Nothing will being decided before next Saturday.

The meeting is holding every Friday.

This book was writing by Sam'’s father.

NOo R wo e



lll. Rewrite each sentence with a passive verb, and so that the names of
people are not mentioned.

The authorities have closed the casino. — The casino has been closed.
Someone broke into the flat last week.

People all over the world speak English.

The authorities have opened the new swimming-pool.

Someone left this purse in the classroom yesterday.

The city council has banned traffic from the city centre.

The clubs have postponed the match.

NooAWDE

I\VV. Choose the correct word or phrase underlined in each sentence.
I’m having my hair/cut/to cut tomorrow.

The children were took/taken/taking to the seaside-fof the day.
| was sending/sent/send here by the manager.

Kate is having her car services/servicing/serviced tomorrow.
Sue had her windows breaking/broken/broke by vandals.
David has been offer/offering/offered a néwjob in Brazil.
Where exactly were you born/did you.born/did you bear?

I've just had my like repaired/repair/repairing.

ONOoOGhRWNE

V. Rewrite each sentence beginning and ending as shown.
1. Someone stole Bob's bike. £/Bob had his bike stole.
2. John lent me this book. —This book John.
3. The dentist took out ome of\my teeth yesterday. — Yesterday |
out.
4. Cairo is my place(ofibirth. — | in Cairo.
5. A rock concert ticket was sold to me by a friend. — | was by a
friend.
6. Someone’broke into Tom’s house last week. — Tom had last
weelk:
When is your date of birth? — When exactly born?
Myparents gave me this ring? — | parents.

© ~N

Unit V
Electricity: Energy of the Future
Vocabulary Study

Word List
Nouns and noun phrases
advance NpoaBMXeEHME, ycrnex, Nporpecc
appearance nosiBreHne
appliance npucnocobnexnue, npubop

application NpUMeHeHne



beam
cable
cycle
device
gear
health

in the case of ...

labour
mankind
property
pulley
range
research
source
workshop

Adjectives

efficient
evident
expensive
specific
successful
universal
various
wide
Verbs
charge
consume
cover
design
double
imagine
improve
invent
light (ht)
provide
realize
reduce
replace
save
set up
support
transform
turn

nyd, Ny4okK
kKabenb

LMK

YCTPOWNCTBO, annapar, npubop
LLeCTepHs, 3ybyaTasi nepenada
300pOBbLE

B criyyae ...

Tpya, pabota

4ernoBe4vyecTBO

CBOMCTBO, Ka4eCcTBO

LLKMB, 610K, BOPOT
cepa, 30Ha, amnnuTyaa
(Hay4yHOe€) nccnegosaHue
NCTOK, NCTOYHUNK
MacTepckas, uex

NEeNCTBEHHbINNIGD G EKTUBHBIN
oyYeBUAHbLIN, SICHbIV

A0pOoron (o ueHe)

0COobBINy 0COBEHHbIN, XapaKTEePHbLIN
YGIELHbIN

BEeoOLUMin, yHMBEpCanbHbIN
pasHbin, pa3HOObpasHbIn

LLIMPOKUU

3apsKaTb, 3arpyxaTtb
noTpednaTb

NoKpblBaTb, OXBaTblBaTb
NPOEKTUPOBaTb, KOHCTPYMPOBATb
yABauBaTb

npeacraBnaTb, BoobpaxaTtb

ynyywartb(cs), coBepLUeHCTBOBaTbL(CA)

n3obpetatb

OoCBellaThb, 3aXxuraTb
cHabxaTb, obecneymBaTb
npeacraenaTb cebe, OCYLECTBNATh
MOHMXAaTb, COKpaLLaTb
3aMeHATb, 3amMeLlaTtb
BGepeyb, 3KOHOMUTb
BO34BWraTtb, yCTaHaBNIMBaTb
noaaepXxuBaTb, NOOKPENNATb
npeobpas3oBbiBaTb
noBOpaynBaTbCs, 00paTUTLCS



|. Read and translate the following words. Arrange them into the groups: a)
with one stress or stress on the first syllable; b) with the stress on the
second syllable; ¢) with two or more stresses.

Pollute, natural, panel, solar, consider, non-traditional, advantage,
photoelectric, expensive, tunnel, consumption, thermal-chemical, civilization,
population, motorway, photocopying, power, accumulate, during, remain,
electrometallurgy, environment, battery, lighting, individual, therefore, sun-
powered, unlimited, mechanical, hydraulic, geothermal, transformation,
concentrate, enough, area, supply.

[I. Match the words on the left with the definitions on the right:

1) motor a) place from which something.comes or is got
2) device b) cause to exist or occur, produce
3) beam C) create or design (sth not ‘existing before)
4) technology d) make less, make smaller in size, number,
5) invent degree, price
6) research e) change the shape,-appearance, quality or
7) source nature
8) power f) something thought out, invented or adapted,
9) generate for a specific purpose

10)reduce g) investigation undertaken in order to discover

newfacts

h). study, mastery and utilization of manufacturing
and industrial methods

1) device which imparts or utilizes power (esp
electric power) to produce motion, but not
used of a steam engine

j) ray or stream of light

k) strength; force

lIl. Choose:

a) anoun
a)invent; b)inventor; c)inventive; d)invention.
a)transform; b)transformer; c)transformation; d)transformed.
a)generator; b)generative; c)generate; d)generation.
a)pollutant; b)pollute; c)pollution; d)polluter.

P 4 Y

b) a verb
a)operation; b)operator; c)operate; d)operating.
a)apply; b)appliance; c)applicable; d)application.
a)indicator; b)indicate; c)indication; d)indicative.
a)producer; b)productive; c)produce; d)product.

PR



C) an adjective
a) effect; b) effective; c) effectiveness; d) effectively.
a) vary; b) variation; c) variety; d) various.
a) possibility; b) possibly; c) possible; d) impossible.
a) power; b) powerful; c) powerless; d) powerfully.

hronNPE

d) an adverb
a) intensive; b) intensity; c) intensively; d) intensify.
a) mechanics; b) mechanic; ¢) mechanize; d) mechanically.
a) economy; b) economical; ¢) economist; d) economically.
a) warm; b) warmth; c) warmly; d) warmish.

hroONPE

IVV. Define the meaning of the “x” words.

1) provide: provider
obecneumBaTb: X (CHabXeHeL, NOCTaBLLUK)
2) induce: induction
MHOYKTUPOBATb: X

3) accumulate: accumulator
HakannueaTb: X

4) transmit: transmission
nepenasaTthb: X

5) consume: consumer
noTpebnaTh: X

6) reduce: reduction
coKkpawiatb: X

7) design: designer
NpoeKTUpoBaThb: X

8) improve: improvement
ynyywaTb: X

9) apply: application
NPUMEHATB:

10)combine: combination
KOMBUHUpOBAaTb: X

1) populate: population
HaeenaTb: X

12) operate: operator
ynpaBnsaTb, paboTtatb: X

IV. Make adjectives from the following nouns by adding the suffixes: -al,
-ful, -ic and translate them into Russian.
Industry, success, universe, economy, nature, part, power, tradition,
metallurgy, theory, digit, use, logic, electricity, structure, hope, idea, form,
skill, science, profession, physics, experiment, help, practice



V. Arrange the words with similar meaning of the two groups in pairs.
a) reduce, various, advance, property, application, device, latest,
power, enable, reach, transform, longstanding, research, supply
b) turn to, make it possible, use, achieve, old, appliance, most
recent, energy, different, investigation, progress, quality, provide,
lower.

VI.  Match the words with their opposites, like the example:

usual
a) future
b) unlimited
C) with
d) waste
e) necessary
f) wide
g) cover
h) consume
1) reduce
]) improve
k) expensive
[) advanced
m) appear
n) evident
o) charge

unusual
1) save
2) narrow
3) backward
4) increase
5) worsen
6) past
7) disappear
8) limited
9) produce
10) vague
11) unnecessary
12) discharge
13) without
14) discover
15) cheap

VIl. Match the verbs fromj«a» with the nouns from «b».

a) develap b) consumption
accumulator solar power stations
solve streets
offer energy
transform new appliances
improve wind power
need a problem
replace the efficiency of...
light transmission shafts
charge a new source of
design energy
double service

a battery

VIIl. Complete the sentences with the words given below.
1. Electricity has many useful...: it is clean and...no by-products. 2.The
latest laser devices have found...in medicine. 3. The...of electricity has



doubled every ten years. 4. We have many various electric...in our houses.
5. The generator...batteries that had been used before. 6. That electricity is
clean and easily-regulated is its great.... 7. Our lives have been completely
transformed with...of electricity. 8. A combination of electric lines and
networks are being...throughout the country. 9. Electric power has
become.... 10. The...of nation development is how much electricity is
consumed per capita.

Advantage, appliances, universal, set up, appearance, indicator,
replaced, application, properties, consumption, generates.

IX. Translate into English.

AP P EKTUBHOE NMPUMEHEHME ITOrO YCTPOMCTBA, NPOEKTUPOBATL HOBYHO
SJ1IeKTPOCTaHLUMIO, CHWXaTb notpebneHune SHeprun, 3apsxaTb
aKKyMynsaTop, yHMBepcalnbHble CBOWCTBA, OYEeBUAHbIN-YCNEX, ynyywaTb
300poBbe NiOAeNn, ycTaHaBnuMBaTb JIMHUM CBA3MW, ( '8AMEHATL CTapble
MCTOYHUKN 3HEPINN, OCYLLECTBNATbL MEXAYHaPOAHbLIA MPOEKT, 9KOHOMUTb
pecypcbl, goporne npudopbl, Npeobpa3oBbiBaTE ‘OAHN BUAbl SHEPTUN B
Apyrme, COBEpPLUEHCTBOBATb  OfIEKTPOreHepatop, rMOsiBliIeHMe  HOBbIX
HEeTPaANULMOHHbBIX MICTOYHUKOB 3HEPTUN.

A. Text Study
l. Is look at the title. What do you think.this reading will be about?
Text A
ELECTRICITY

It is impossible to(imagine our civilization without electricity: economic
and social progress wilkbe turned to the past and our daily lives completely
transformed.

Electrical pewer has become universal. Thousands of applications of
electricity ,such “as lighting, electrochemistry and electrometallurgy are
longstanding)and unquestionable.

With the appearance of the electrical motor, power cables replaced
transmission shafts, gear wheels, belts and pulleys® in the 19" century
workshops. And in the home a whole range of various time and labour
saving appliances? have become a part of our everyday lives.

Other devices are based on specific properties of electricity:
electrostatics in the case of photocopying machine and electromagnetism
in the case of radar and television. These applications have made
electricity most widely used.

The first industrial application was in the silver workshops in Paris.
The generator — a new compact source of electricity — was also developed
there. The generator replaced the batteries and other devices that had
been used before.



Electric lighting came into wide use at the end of the last century with
the development of the electric lamp by Thomas Edison. Then the
transformer was invented, the first electric lines and networks were set up,
dynamos and induction motors® were designed.

Since the beginning of the 20-th century the successful development
of electricity has begun throughout the industrial world. The consumption of
electricity has doubled every ten years.

Today consumption of electricity per capita® is an indicator of the
state of development and economic health of a nation. Electricity has
replaced other sources of energy as it has been realized that it offers
improved service and reduced cost.

One of the greatest advantages of electricity is that it is-clean, easily-
regulated and generates no by-products®. Applications of electricity now
cover all fields of human activity from house washing machines to the latest
laser devices. Electricity is the efficient source of some.of the most recent
technological advances such as the laser and electron beams. Truly®
electricity provides mankind with the energy of the future.

Notes to the Next

1) transmission shafts, gear wheels, belts\and pulleys —
TPaHCMUCCUOHHbIE Banbl, 3yb4yaTtkle, Konéca, peMHu n 6510ku

2) time and labour saving appliances = anekTponpnbopsbl, 3KOHOMSILLNE
Bpemsa 1 Tpyq

3) induction motors — MHOYK{MOHHbIE MOTOPbI

4) per capita — Ha gyLly HaceneHus

5) by-products — no6o4YHble NPOAYKThI

6) truly — nonctmnHe

[I. Read the text'again carefully and answer the questions.

1. Why is.it/Jsimply impossible to imagine our civilization without
electricity?

What'iadustrial applications of electricity do you know?

What home applications of electricity can you recollect?

Where was the generator developed?

What devices did the generator replace?

Who invented the electric lamp?

Do you know who invented the dynamo?

When did the successful development of electricity begin?

What does the consumption of electricity per capita indicate today?
10 Why has electricity replaced other sources of energy?

11. What spheres of human activity do applications of electricity cover?
12. What recent technological advances does electricity provide?
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lll. Which of the vocabulary units used in paragraphs 1, 2, 4 and 5 could
be regarded as international words?

V. Read the translation of the last paragraph. Compare it with the original
and say if everything is right.

OgHuM 13 cambix OOMbLUMX NPEUMYLLECTB 3NIEeKTPUYECKON 3HEPrun
ABISETCA TO, YTO OHa 4uCTasd, Nerko ynpasnsemMas U He [aeT HUKaKuX
No6oYHbIX NPOAYKTOB. B Halwe Bpema anekTpnyectBo obecrneymBaeT Bce
chepbl YerioBeveckon AeATenbHOCTU, OT LOMALUHUX CTUparbHbIX MaLluH
A0  HOBEWWMUX fasepHblX YCTPOWUCTB.  JNEKTPUYECTBO jgBMAETCA
9PPEKTMBHBIM UCTOYHMKOM [ONA CaMbIX MOCAeOHUX TEeXHOROMYEeCKNX
n3obpeTeHnin, TakMx Kak nasep W 3NeKTPOHHble ny4u.\ AloncTuHe
SNeKTpnyecTBo obecrneymBaeT YernoBeyecTBO aHepruen dyaylero.

V. Find the English equivalents of the following “words and word

combinations in paragraphs 4-7.

HoBbI KOMMAaKTHBIA UCTOYHUK, NEPBbIE 3NEKTPUYECKNE NMHUM U CETH,
notpebneHne anekTpuyecTBa, ocobeHHble (EBONCTBA 3NEKTPUYECTBA,
MacTepcKkne no M3roTOBNEHUO usgenun u3 cepebpa, Hanbonee LUIMPOKO
ncnonb3yemoe, No BCEMY MHAYCTpUarbHOMY MWPYy, B KOHLIE MPOLLSIOro
Beka, 3ameHun 6atapeun u gpyrve npubopsl, nsobpectn TpaHcgopmartop,
yCrneLHOe pa3BuTue anekTpmyecTea

VI. Find passages about industrial applications of electricity and translate
them into Russian.

VIl. Choose a passage and read it aloud (1-2 minutes).

VIII. Find out the subjectimatter and the means of its secondary expression.
e.g. | like your repartion electricity. It is made with great enthusiasm.

IX. Find key words,\phrases and the topic sentences which express the
general meaning of each paragraph best of all.

X. Using the,information obtained from the paragraphs make a plan of the
text.

XI. Speak'about electricity and its applications using key words, phrases, the
topic sentences and the plan of the text.

B. Text Study

|. Look at the title of the text. Make your predictions about the content of it.
Read the text and answer the questions.
a) How is the problem of power supply for distant areas being solved
at present?
b) What are the advantages of solar power?



Text B
SOLAR LIGHT BY NIGHT

Most people living in towns consider it a usual thing that streets are lit
at night. But street lights need a power supply (MCTOYHMK SHeprum)
therefore distant areas with no source of electricity remain in darkness until
the sun comes up again.

With new appliances now offered by several British firms, many
distant places could be lit with solar-powered street lights. It may seem
strange that the lamps can use the power of the sun which shines by day
when the lamps are needed at night, but they work bysusing energy
accumulated during the day from a solar panel. The solar, panel produces
electricity which charges a battery. When the sun goes,'down the battery
power is then used for lighting. Each lamp has its own(panel so the system
can be used for one individual light or a number of them.

In the south of Saudi Arabia a motorway tunnel’miles from any power
supply is lit day and night by solar-powered_devices. The solar panels
provide power during the day and charge batteries which accumulate
enough power to light the tunnel at night:\The generation of electricity by
batteries is still expensive but the advantage of sun-powered lamps is that
they can bring light to areas distant frem any other power supply.

There is one more advantage Of\solar power: not only it is unlimited, but
also its use does not pollute, the environment. That is why it is very
important to develop devices ‘which make it possible to transform solar
power into mechanical or €lectric forms of power.

ll. Read the text and/define whether the following statements are true or
false.

1. Street lights do.not need a power supply nowadays.

2. Distant.areas with a source of electricity never remain in darkness.

3. With pew appliances now offered by several American firms, many

distant.places could be lit with solar-powered street lights.

4. A metorway tunnel in Saudi Arabia is lit day and night by wind-powered

deviCes.

5.“The generation of electricity by batteries is rather expensive.

6. There is one more disadvantage of solar power: its use does not pollute

the environment.

7. The development of devices which make it possible to transform solar

power into mechanical or electric forms of power is very important.

lll. Expand the sentences.

1. Distant areas with no source of electricity remain in darkness.
2. Several British firms have offered new appliances.

3. The lamps can use the power of the sun at night.
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5.
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IX.

Each lamp has its own panel.
The generation of electricity by batteries is still expensive.

Now decide which of the following statements express important ideas
or supporting details for this reading.
a) Streets in cities, towns and some villages are lit at night.
b) Street lights need a power supply.
c) The sun does not shine at night.
a) Electricity is a source of light as well as heat.
b) Almost all metals are good conductors of electricity.
c) Several British firms have offered new devices using solar light.
a) No other source of energy has been so widely usedas €léectricity.
b) The solar panel produces electricity which charges the battery.
c) Each lamp has its own solar panel.
a) Solar power is beneficial means of energy.
b) One of the advantages of solar power is that\it doesn’t pollute the
environment.
c) Sun-powered lamps can bring light todareas distant from any other
power supply.

Find the words and word combinations — carriers of the primary and the
secondary information in paragraphs 3 and 4.
Define the function of commasS/and a colon in paragraphs 2 and 4.

. Find out the means of_connection between clauses, parts of the
sentence and sentences:

I.Arrange the sentences in the logical order according to the text.

Solar power is unlimited.

The solar panel produces electricity which charges a battery.

A motorway tunnel in Saudi Arabia is lit day and night by solar-powered
devices:

Streets.in cities and towns are lit at night.

The-g€neration of electricity by batteries is still expensive.

Solarpower does not pollute the environment.

Distant areas with no source of electricity remain in darkness.

When the sun goes down the battery power is then used for lighting.

Give the main points of the text in 4-5 sentences.



C. Text Study

Translate the text into Russian.

Text C
NON-TRADITIONAL RENEWABLE SOURCES OF ENERGY

It is known that much is being done in the world today for the
development of non-traditional sources of energy. Without them)the Earth
cannot support its present population of 5 billion people andcprobably 8
billion people in the 21 century.

Now we are using traditional power sources, that is,oily natural gas,
coal and water power with the consumption of more thans0 billion barrels
per year. It is evident that these sources are not unlimitee.

That is why it is so important to use such_renewable sources of
energy as the sun, wind, geothermal energy and others. Research is being
carried out in these fields.

One of the most promising (nepcnekTnBHbIn) research is the
development of power stations with direct, transformation of solar energy
into electricity on the basis of photoeffecty¥It was Russia that was the first in
the world to develop and test a photoelectric battery of 32,000 volts and
effective area of only 0.5 sg.m., which made it possible to concentrate solar
radiation. This idea is now being intensively developed in many countries.

However, the efficienCy *of a solar power station is considerably
reduced because of the limited time of its work during the year. But it is
possible to improve the jefficiency of solar power station by developing
different combinations of solar power stations and traditional ones—thermal,
atomic and hydraulic. Today some engineers are working at the problem of
developing electric power stations with the use of a thermal-chemical cycle.
It will operate, on products of the transformation of solar energy, whereas
the “solar’\chemical reactor uses CO, and water steam of the thermal
power station. The result is that we have a closed cycle.

All' these advances in developing new sources of energy and
improving the old ones help to solve the energy problem as a whole and
they do not have negative effects on the environment.



Grammar Study

®dyHKumm rnarosios ‘should’ u ‘would’

Should

Would

1

2

1. BcriomozamernbHbIl 2nazos, ynompebrisembilt 8 KOCBEHHOU peyu 80 8peMeHHOU
¢opme Future — in — the Past (6ydywee 8 npowedwem,).

| said that | should come in time.
A ckasari, Ymo rpuedy 808peMs.

He said that he would come in time.
OH cka3asi, Ymo npuedem 808peEMS.

2. BcriomozamernbHbIl ena2os, ynompebriseMbil 8 cocriazamersibHOM HaK/IOHEHUU.
a) 8 yCr108HbIX MPEOIOKeHUsIX

We should introduce this method if it were
efficient.

Mpbi1 661 6HeOpunu amom memod, ecnu bbi
OH 6bIr1 3GhheKmMUBHbIM.

They would introduce thissmethod if it
were efficient.

OHu 6b1 8HeOpUIU 3MOmM Memod, ecriu
6b1 OH bbI151 3¢bgheKMUBHbLIM.

6) 8 npudamoyHbIX rPeOIOKEeHUSIX

lNocne obopomos it’'s important (8axxHo),
necessary (Heobxooumo), required
(mpebyemcsi), desirable (xxenamernbHo) u
op. that ...

It is necessary that you should finish your
work on time.

Bam Heobxodumo 3akaH4Yugams pabomy
gospeMmsi.

lNocne anaeonos suggest (npednazameb),
insist (Hacmausams),demand
(mpebosame), recommend
(pekomeHOosams) u dp. that. .(

He insists that you should do it"at once.
OH Hacmausaem Ha momM,4mobbi 8bI 3Mo
cOenasnu HemMeOrieHHO,

B ob6cmosimernbcmaeHHbIX npeorioxeHUsIX
uenu

We took a taxi,So that we should not miss
the train.

M1 83gaumakcu, Ymobbl He orno3damsb Ha
rnoeso;

lNocne anazgesia*to wish’

| wish she would come soon. (impossible
wish for-afuture change)

A xemerna, Ymobbl OHa npuwna
rockopee.

(*Kanb, Yymo oHa rnpudem HeCKopo)
(HepearnbHoe xenaHue, omHocsaweecs K

6yoywemy).

8) 8 MPoCcMbIX rPeOIOKEeHUSIX
To go there would be useless.
NOmu myda 6b1510 661 6ecronesHo.




1

2

3. ModarnbHbie eraz2orbl

a) moparsbHoe obsi3amesib.cmeo, 0osie

You should be always polite. You should not
tell lies.

Cnedyem ecez0a bbimb 8exrusbiM. He
cnedyem spameb,

6) HeoO0obpeHue rpowrbix Oeucmesul (¢
rnepghekmHbIM UHGOUHUMUBOM)

You shouldn’t have done it.

Tebe He criedosario amo denams;

8) coeem

You should see a doctor.

Tbl dormkeH cxodumb K epady (Tebe
cnedosarso bbl cxoOums K gpa4y)

2) ecmecmeeHHoe, oxudaemoe delicmeaue.
He should be at home now.

OH, OormkHO 6bimb, celidac doma.

a) soniesol akm, xomeHue (o
OMHOWEHUIO K rpowisiomy)

She was going away and would not tell us
where she was going.

OHa ye3xana u He xenana ckasame,
KyOa edem;

6) yrnopcmeo, Hacmou4ueocme

| asked him not to bang the door, but he
would do it.

A npocurna e2o He xsiornames 98epbHo, HO
OH 8ce pasHO MpPoOOIIKaT;

a makxxe, 055 1108MopPsIHOLUUXCS
Oeticmauli, U 3agedEHHO20 rnopsioKka (8
rnpawiiom)

Grandma would always make me
porridge for breakfast.

Babywka 0bbI4HO 8apuna MHe Kauwly Ha
3aempak (makxe: used to) (bbigarno)
U 8 8exriusbIx rnpocbbax

Would you / Would you mind...?
Would you open the door, please?

He moeanu 6kl 6bl...7

He eso3paxxaeme nu ebl...?7

He moernu 6b1 861 OMKpbImMb 08€pb ?

MHozogpyHKYUOHanbHbIe csio8a

[Npednoe Cors Hapeuue

1 2 3
(+cywecmeaumeribHoe, - 8 NIPUdaMOoYHbIX rPeOSI0KEeHUSIX 8 KOHUe
MecmouMeHue, 8pemMeHuU npednoxe-

Since | 2epyHdull) We haven't seen him since he Huu
He ynompebrisemcs 8 moved to Moscow. We haven't
Hayvarie rpedsrioxeHusi Mb1 He sudernu e2o ¢ mex rop, Kak seen him
We haven't seen him OH repeexarn 8 Mocksy since.
since the end of the - 8 NIPUdaMOoYHbIX rPeOSI0KEeHUSIX C mex nop
week. MPUYUHbI Mbl €20 He
Mbi1 He sudenu ez2o ¢ Since the lunchroom was full, she sat | sudesnu.
(KoHya) npowsiot at our table.
Hederu. Tak kak 8 cmosiogol bb1/10 MHO20
ntooell, oHa cesna 3a Hau CmoJsiuk.




1 2 3
For Bbipaxaem: 8 npudamoYyHbIX rPedroXeHUsIX
1) epems MPUYUHbI
| shall stay there for We can't start the engine for there is
some days. no fuel in the tank.
5 ocmaHoesnocb mam Ha | Mbl He moxxem 3agecmu 08ucamerib,
HeCKOJsIbKO OHel m.K. 8 bake Hem beH3UHa. -
2) uyersnb
This story is written for
children.
Amom pacckas HarnucaH
ons demel
3) ueHbl
for 20 dollars
3a 20%$
4) npuyYuHy
for many reasons
10 MHO2UM MpUYUHaM.
1) 8 npudamoyHbIX, fiPeONIOKEeHUSX He works as
8peMEeHU an
As the train was approaching the engineer.
station, we went to the platform. OH
Koz0a noes0rnodxodun kK cmaHuyuu, | pabomaem
Mbl OWILr Ha rnnamagopmy. UH)XeHe-
2) 8.[1pUOamoYHbIX rpPeOr1oKeHUsIX pPOM.
OPYYUHbI
As Asit was getting dark, | took the
tram.
A noexan Ha mpameae, m.K. cmario
memMHeme.
3) 8 npudamoyHbix rpPeOIoXeHUsIX
obpasza delicmeusi
She did exactly as | told her.
OHa nocmynuna UMeHHO mak, KakK si
el cka3zarl.
4) 8 npudamoyHbIX rpPeodrIoKeHUsIX
CpasHeHust
We were going up the road as fast
as we could.
Mbi1 winu no dopoee mak 6bicmpo,
KaK moJsibKo Moa/u.
B npudamoyHbix npeonoxeHusix
MPUYUHBI
They couldn't start the experiment
Because earlier because all the necessary

equipment hadn’t been installed.
OHu He moenu Ha4yamb
3KCrepuMeHm paHbuwe 8 Ces3U C
mem, 4mo b6bIr1I0 ycmaHO8/1eHO He
gce Heobxooumoe obopydosaHue.




1 2 3

Because We have chosen this woolen

of sweater because of its good quality.
Mbi1 ebibpanu amom wepcmsiHou
ceumep uU3-3a e20 xopouwezo
Kayecmea.

He came as
well as
John.
As well OH npuwen,
as mak )xe Kak
U MDKOH.
(Mpuwen
OH, a
makxxe

JDKOH)

As to They inquired as to the
actual reason of his late
arrival.

OHu oceedomurnuck 0
(Hacmosiweu) npu4yuHe
e20 orno3daHusl.

Due to | Thisis due to the raise
of temperature.

3mo npoucxodum us-3a
(bnazodapsi)
ro8bIWEHUS
memrepamypebi.

to be due to (predicative - UMeHHasi YaCTb CKa3yemoro)

Flight BA 502 from Miamt is due to arrive in a few minutes.
Oxudaemcs, ymo_camorniem peticom BA-502 u3 Matamu nipusemnumcs
yepe3 HECKOMLKOMUHYM.

Cnedyrouwe\corosbl yrnompebrisiomcs 8 Havare rnpudamoyHbIX
npednoxeHuu: a) npuduHkl:since, for, as, because; 6) spemeHu: since, as;
8) obpasa Oelicmeausi: as.

Both...and..., either...or..., neither...nor... .

LaHHble Cor3bI C8513bI8AKOM HYacmu CII0KHOCOYUHEHHO20 MpedrioXeHUs
J1u60 0OHOPOOHbIE YIeHbI 8 MPOCMOM PeOsIoKeHUU.

| am fond of music, both ancient and modern.

My sister and | both helped him.

Either | or he will go.

Neither he nor | went.

A yerneKkatocb My3bIKOU, KaKk cmapUuHHOU, makK U coepeMeHHOU.

Kak mosi cecmpa, mak u s nomoeasiu emy.



Yudem nubo oH, nubo 1.
Hu oH u HU g He nowirnu.

CocnaraTtefibHoe HaknoHeHue

[naeconbl 8 cocriazamesibHOM HaKIOHEeHUU 8blpaxarm XXeraemoe,
npedrioniazaemoe Unu HepearibHoe delicmeue. B cospemMeHHOM aHarulicKom
f3blKe  CUHMemu4eckue  OpMbl  cocriazamesibHo20  HaK/TIOHeHUS,
coenadarwwue € UHUHUMUEOM, yrnompebrnsaomcsa pedko. Yawe
yrnompebrisiomcsi aHarumuyeckue ¢opMbl, cocmoswue Us, MoodasibHbIX
anaeonoe ‘should, would, may, might’ u uHgpuHumuea. [mrs\mozo, 4mobbi
8blpa3ume HepearnbHoe delicmeue, UCMOo/Ib3yemcss CMeweHue epemMeHu’ —
a/azonbl 8 rnpoweowemM 8peMeHU 8blpaxatom HepealibHoe Oelucmeue 8
HacmosiweM, a popmbl Past Perfect — e npowriom.

CocnacamernibHoe  HaklloHeHuUe  0b6bIYHO N yriompebrisemcs 8
npudamoyHbIxX MpedrioxeHUsix rnocse obopompes’ ‘it is necessary, it is
required” u Op.; 8 OOMoHUMEsbHbIX MPUOAMQYHbIX MPeOsIoKeHUSX Mocre
enazonoe ‘order, command, suggest, insist’,"a makxe enazona ‘wish’; 8
o0bcmosimernibCmeeHHbIX rpudamoYHbIX MPEOSIOKEeHUSX uenu U HepeasibHO20
YCI108US.

It is required that pupils sheuld come in time.

| suggest that you should read it yourself.

| wish | had that book.

We wished they would tell us everything.

Write down all these words lest you should forget them.
If you weremoOre attentive, you'd study better.

Tpebyémcsi, Yymobbl yyauwuecs rnpuxoousiu 808pPEMS.

Amonazar, mebe criedyem rpoyecms 3mMo camMmomy.

XKasib) umo y MeHss Hem amou KHu2u

Xarnb, Ymo oHU He paccka3anu Ham 060 ecem.

3anuwu ece amu crioea, YmMobbl He 3abbimb UX.

Ecnu 661 mbi 66111 6051€€ 8HUMamMebHbIM, Mbl bl y4UNCS f1ydWwe.



YcroBHble NpeanoxeHus

Tunbl ycrioeHbIX Cumyauus / ycriosue Coro3bl / cOtO3HbIEe
npeodnoxeHud criosa
1. I3bsisumeribHoe | peasibHoe ycriosue, If ecnu
HaKoHeHue OmHocsawuecs K unless ecrnu He
Hacmoswemy, even if oaxe
npoweowemy unu but for ecnu
bydywemy epeMeHU; in case etc | ecnu b6bI
2. Cocnacamerib- HepearsibHoe ycriogue He
HO€ HaKITOHeHue 1) HeseposimHoe 8 Griyyae
delicmeaue, omHocsweecs rpu
K Hacmosiwemy unu ycriosuu,
6ydywemy epeMeHu 4mo
2) MasiogeposimHoe, HO um.o.

B803MOXKHOe Oelicmaue;

a makxe yriompebrissemess
8 MPEeOrIOXKEHUSIX,
gblpaxkaroujux cosem,

3. Cocnazamerib- HepearsibHoe ycrlosue,
HO€ HaKITOHEeHUe OMHOCSAWEECH\K
delicmeuto,/He umeswemy
Mecma.8,rpowsiomM, Xxomsi
U 803MOXHOMY, a maKkxe
ucfiofie3yemcs 0ns
8blpa)keHUs1 CoXXasleHUsl,
Kpumuku, Heo00bpeHUs.

lNpudamoyHoe ' pedroxeHue ycrosusi, npedwecmsyruee 2r1a8HOMYy
rpeoroXeAro, omoensemecs  3ansmod. Cywecmeyrom  makxe
CMelWwaHHbkle, *muribl  yCrio8HbIX MpeodsioxXeHul. BeposimHbl  robble
KombuHatuu 8peMeHHbIX ¢hopMm 2/a2o/i08, 8 3asucuMocmu  om
KoHmekcma. Hanpumep: If she had finished it yesterday, she wouldn’t be
doing' it now.

Ecriu 6b1 oHa 3aKoH4una 3mo g84yepa, mo He Oenarna bbl 3mo ceu4yac.

Bo ecex mpex munax ycrio8HbIX rpedsioxXeHUl coto3bl / COH3HbIe criosa: if,
provided u dp. moaym b6bimb onyuwieHbl. B npudamoyHoM ripedroxeHuu
gcmpeyvaromesi makue eanazosnel, Kak had, were, could, might, should. B
makom criydae umeem mecmo obpamHbil MopsiOOK CI1os.

Hanpumep: Ecnu oH npudem, mo nycme rnodoxdem meHs. - Should he
come, let him wait for me.

Ecnu 6b1 oHa bbina cneyuanucmom 8 0aHHou obriacmu, Mbl bbl nokasarsnu
el Hosyto ycmaHosky. — Were she a specialist in this field, we should show
her the new installation.



Bo3MOXXHOCTb, BEPOSATHOCTb, MPeAnonoXeHune,

rpaHuyallee ¢ yBepeHHOCTbIO

MNpeanonoxeHune, 6rmakoe K yBepeHHOCTU

Jloeuyeckas
Heu3bexHocmb

‘must’ +
HernepgeKmMHbIU
UHgUHUMUB obuwezo
gulda (cumyauus e
Hacmosiwem unu
bydywem)

‘must’ + nepgpekmHabit
UHUHUMUB
(cumyauus e
rpowiom)

You must be hungry
after such a long walk.
Bbi, dormkHO 6bImb,
npoeosiodanuck, nocsre
0ors2ou rnpoSysiku.

She must have been
very.worried when she
heard about the
accident.

OHa, 0os/mKHO 6bImb,
OYeHb
paseosiHosarsacs,
ycrbiuas o
Hec4YacmHOM criyqae.

YeepeHHoCMb, Ymo
Jioeuyecku 3mo
HEeB03MOXXHO

‘can’t / couldn’t’ +
HernepheKkmHbIU
UHgUHUMUB obwezo
gu@a ( 8 Hacmoswem u
GyOyuwiem)

‘can’t / couldn’t’ +
nepghekmHanil
UHUHUMUS (8
rpowiom)

‘can’t’ ebipaxxaem
Oeticmeue,
rPOMUBOIOIOXHOE
MOoMY, 4MO 8bIPa>KeHo
enaeosnom must’

Surely she can't be fifty.
She looks much
younger.

He moxem 6bimb,
4ymobsli et 6biro 50.
OHa ebl2nsoum
20pa300 MOIIOXe.

You can't have locked
the door. It was open
when | came home

He moxxem 6bimb,
4mobbl mbl 3aKpbir
0sepb Ha 3aMoK. OHa
6bir1a omKpbima, Ko20a
A npuwers domod.

It can’t be true. It must
be a lie.

3mo He moxem 6bimb
npasdod. [JormkHo
6bImb, 3MO J1I0Xb.




Mbi1 Ha0eemcsi, Ymo
Oelicmeue npou3owrio,
HO He y8epeHbI 8 3MOM

Ought to / should +
nepgbekmHnil
UHUHUMUB
(cumyauus e
rpowsiom)

Has Jim come yet? He
ought to / should have
come an hour ago.
Lbkum yxe npuwen?
OH OosKeH bbirn
nputmu 4Yac Ha3ad.

[leucmeue
meopemu4ecku
B03MOXKHO

Can + HenepgeKkmHbIU
UHGbUHUMUB

There can be a
thunderstorm today.
Baby tigers look
cuddly, but in fact they
can be very dangerous.
Ce200Hs3-803MOXKHO,
6ydem.epo3a.
Tuepsima ebienia0sam
MUITBIMU, HO Ha caMOM
desie, OHU moaym
6bimb 8ecbMa
ornacHbIMU.

Bo3moxxHoCcmb

BoamoxxHo,
rpednonoxumersib-
HO (COMHeHue,
Heyg8epeHHOCMb)

may (not) might,(not) / could
+ HernepEeKMHbIU
UHUHUmMU8 obweao unu
onumeibHo20 suda (8
Hatcmoswem unu 6yoyuwem)

may (not) / might (not) /
could + nepgpekmmHnit
UHUHUMUS (cumyauus 8
rpowsiom)

Look on that shelf,
your scarf
may/might/could be
there.

3aansHu Ha rorky,
803MOXXHO, meou
wapg mam.

| won’t phone now,
they may/might/could
be having lunch.

1 He xo4y 360HUMb
um ceuiyac, Moxxem
6bimb, OHU
obedarom.

She looks very
unhappy. She
may/might/could
have lost her job.
OHa eblanisdum
O4YeHb Hec4YacmHod.
BoamoxxHo, oHa
rnomepsina pabomy.




BepossmHocmb (npasdornodobue)

Heumo sensemcs
8€POSIMHbIM,

Ought to / should +
HerepgeKkmHbIU

There ought
to/should be much

npednonazaemoe / | UHGbUHUMUS (cumyauus 8 fruit this year.
oxxudaemoe Hacmoswem unu 6ydywem) | Budumo, 8 amom
Odeucmeue 200y 6ydem MHO20

pyKkmos.

L5 ebipa)xkeHusi B03MOXHOCMU 8bINONIHUMB delicmeue 8
goripocumeribHbIX NMpeosioXeHUsIX He yriompebrisemcs arnazon ‘may’.
Bo3moxxHocmb 8bipaxkaemcs criedyrouwumu criocobamu:

Can she? Could he? Is she likely to? Is it likely that? Might he?
Harnpumep: Cmoxem nu oH ebiugpamb? — Is he likely to win?

|. Translate into Russian.

A
1. If you study hard, you will pass your exams,successfully.
2. If | stay here, | shall take part in your work.
3. He will achieve better results provided he applies this method.
4. In case we fulfill this task, we shall write an article.
5. My report will be ready tomorrow, providing | have all the necessary
materials.

B
1. If he were present at the lecture, he would not make so many
mistakes in this paper.
2. He would finishthis project unless he were |ll.
3. We should do.our best to show our skill provided we were given this
work.
4. If theyhad time, they would complete the work sooner.
5. In case'l'saw him, | could speak to him.

C
Y.*He could have made that great discovery earlier if he had had better
conditions for work.
2. | should not have agreed to take part in your research unless | had
been sure of its significance.
3. In case | have understood the importance of the matter, | should have
acted differently.
4. Unless they had studied programming, they would not have compiled
the program.
5. If the mechanic had been there, he might have repaired the device.



[I. Write these sentences putting the verbs in brackets into the correct
tense.

1. If you drove more carefully, you (not have) so many accidents.

If you drove more carefully, you wouldn’t have so many accidents.

2. If he (get up) earlier, he’d get to work on time.

If he got up earlier, he’d get to work on time.

3. If we (have) more time, | could tell you more about it.

4. If you (sell) more products, you'd earn more money.

5. 1 could help you if you (trust) me more.

6. His car would be a lot safer if he (buy) some new tyres.

7. 1 wouldn’t mind having children if we (live) in the country,

8. If I (be) you, | wouldn’t worry about going to university.

9. If I (have) any money, I'd give you some.

10. Your parents (be) a lot happier if you phoned them.more often.

11. Where would you like to live if you (not live) in Paris?

12. What would you do if you suddenly (win) half a'million pounds?

13. Would you mind it if | (not give) you the money/l owe you today?

14. If | had to go to hospital, | (not go) to thisone.

lll. Define grammar functions of “should” and “would” in the following
sentences:

Modal verbs:

Reported speech:

Subjective Mood (and Conditionals):
1. When Marta was youngenr she would work day and night to feed her
family. Time and again l(would see her coming very tired.
2. We should finish, the work in time, provided they had necessary
equipment.
3. We waited tilhevening, but the thunderstorm would not cease.
4. We assured.our supervisor that we should be able to overcome all
the difficulties)in our research.
5. The.measurements should have been made with greater accuracy.
6. Had.you reached an agreement on the problem, the results would
have been obtained by now.
7./ ¥You should take more exercise,” the doctor said.
8> Tom promised his father that he would clean the car the following
day.
9. Idon’t have time, but if | had more time, | would go to the gym.
10. Itis very important that you should take part in the discussion.
11. Everybody required that the new methods of management should be
taken into consideration while making the program.
12. Would you mind typing this report for me?
13. He asked me when they would be through with that experiment.
14. | wish that this new method would be applied.
15. You should be hungry now.



I\VV.Define the functions of since, as, for, because, because of.
1. | have a small car because it's more economic to run.
2. But economics as an academic discipline is relatively new.
3. A basic understanding of economics is essential for citizens.
4. Since that time the subject has developed rapidly.
5. He’s been running the company for ten years.
6. Because there are no others to consult, the owner has absolute
control over the use of the company’s resources.
7. It's a pity we haven’'t made any calculations since.
8. People accept money in exchange for goods and services:
9. Atthe same time money also acts as a unit of accounts:
10. Since time is money, make sure your system is comprehensible.
11. As our knowledge grows and we increase our skillweican exploit
more and more of opportunities that nature offers to us.
12. I've bought this house because of its external.
13. She is not so quiet now as she was in her childhood.

1. Prepositions ......... 2. Conjunctions ..!...... 3. Adverbs .........



Key

Unit |
l.

a) filament a) increase b) utilize
current invention insulate
cathode electron amplifier
diode substantial rectifier
grid apply evacuate
oxide control
plate emit

supply
Il. 1-f; 2-c; 3-b; 4-a; 5-d; 6-e; 7-g; 8-h; 9-i; 10-j.
II. a) 1-b; 2-c; 3-a
b) 1-b
c) 1-b

V. Substantial, active, static, utilizable, chargeable, circuiteus, electronic,
inventive.

VI To amplify — to strengthen, enclosure — fencings flow — current, to supply — to
provide, tube — valve, power — energy, substantial — real\to act — to do, to apply —to
use, to cause — to occasion, to coat — to cover, to cantrol — to regulate, to emit — to
radiate, to place — to put, to state — to confirm.

VIl a-4; b-3; c¢-5; d-1; e-2; {-6; g-7; h-8;,i=9;)g-10.

Grammar Study

l. a) do you go
d) are you waiting
a) doesn’t know
b) I'm having
c) do you leave
d) is happening
e) do you know
f) I'm having
g)~deesn‘t work
h) (are‘you doing

[I. 2 a)does Sue Live
b) you know Jim
c) are you doing at the moment
d) you sitting here
d) we change trains here
e) are you wearing two pullovers
f) David staving with Tom
g) does Kate come home

lll.  a) Naomi Bill aren‘t watching television.
b) Peter doesn't like chocolate cake.
c) Carol doesn‘t drive a little red sports car.
a) I'm not using this pencil at the moment.
b) The children aren‘t having lunch in the kitcher.



c) The sun doesn‘t set in the east.
d) I don‘t get up early on Saturday.
e) Kate isn‘t writing a novel.

f) Sue doesn't live in London.

g) We aren‘t waiting for you.

V. a) 2
b) 1
c) 1
d) 2
el
f) 2
g) 2
h)1

V. a) | don‘t believe

b) has

c) I'm leaving

d) are you doing
e) You are being
f) I'm driving

g) are we eating
h) tastes

I)are you going
J)I don‘t understand
d) understand

VI. 1) hate
2) are you going with
3) do you wear
4) think
5) doesn‘t usually'sit
6) are you looking at
7) does this bus stop
8) am not'taking/is giving
9).eats
10) Doyou know
11) are you staring
12) do you speak
13) is staying
14) are putting
15) Are they speaking

VII. a) B:2; b) B:2; ¢) B:1; d) B:1; e) B:1;f) B:1.
VIII. 1) is goining / is going to join

2) won't be

3) will snow

4) am goinig out

5) are going to knock

6) will probably ride

7) is going to give / is giving



8) am going
9) are going to hit
10) will probably win

Unit Il

l. a) technical, system, process, program, sequence, logical, modern, govern
b) machine, industrial, control, importance, objective, employment, fulfill,
require, technique
c) possibility, automatic, information, subdivision, computation, reliability

Il. solve problems
pave the way
develop principles
work out the algorithms
perform operations
fulfill the program
utilize techniques
govern processes
transmit information

IX. 1) technical possibilities
2) cybernetics
3) engineering sciences
4) technical cybernetics
5) objectives
6) control algorithms
7) programs
8) systems
9) are applied

Text B
ViIl. BEDAG

Unit 11l
l.
a) praeblem, mobile, ticket, message, user, nowadays, Internet, cellular, ordinary,
telephone, tendency, different, wireless.
b) ¢mankind, technology, transmit, compare, conception, enormous, expose, device.
€).._.communication, apparatus, operation, application, exhibition, electronic, television.

Il.
1h;2);3f,4k;5b;609;7e;8d;94a;10¢c; 111.

a) 1.c b)1.a c) 1. a. d) 1. b.
2.a 2.C 2. C. 2.a
3.b 3.c 3.a 3.b
4. a 4. b 4. b 4. a

5. a



V.
Technological, electronic, operational, speedy, spherical (spheric), voiceless, helpful
(helpless), theatrical, sensible (sensless), breakable.

VI.
1/h; 2/d; 3/k; 4/a; 5/1; 6/b; 7/j; 8/e; 9/o; 10/f; 11/c; 12/i; 13/g; 14/m; 15/n.

VII.
al7; bl6; c/1; d/9; e/2; 1/8; g/4; h/10; i/3; j/5.

IX.
1. cellular; 2. “know-how”; 3. subscribers; 4. non-business; 5. data; 6. Mobile,
communication; 7. Web; 8. Internet, video; 9. net; 10. electronic.

Text Study. Text B.

VIII.
2,5/1,4,3

Grammar Study

BpemeHa epynnbi Perfect
l.

1) Has your sister written

2) have had

3) has never seen

4) has stolen

5) have not slept

6) have just broken

7) hasn’t won

8) Have you ever eaten

.

1) always
2) ever
3) just

4) yet

5) for

6) never
7) /So far
8), ‘often
9),"already

[l

a) haven’t been on a plane

b) my pen has

c) have left

d) have just seen

e) haven't finished (writing)

f) you been to South America
g) have left

h) have not spoken

i) Anna/she woken



V.
1)
2)
3)

V.
a)
b)
c)
d)
e)
f)
9)
h)
)
)
VI.
a)

went/found/had stolen
met/knew/had met
got off/was walking/realized/had left

had broken
wanted

had stolen
thought

had done
needed

did not know
had flown
had been
took place

2/4, b)1, c)8, d)3, e)5, f)2/4,

BpemeHa epynnbi Perfect Continuous

1)
2)
3)
4)
5)
6)
7
8)
9)

I.
1)
2)
3)
4)
5)

Il
1)
2)
3)

has just stolen

left

| lost

I've decided

It's started

have visited

I've been standing
has been

went

Have you seen

have been studying/have not finished
have been,phoning/has gone

Have you heard/has robbed

Have broken/has written

has gone
have been learning
haven't finished

4) just left

5)
6)
7
8)
9)

have written / have finished
haven't been

haven't eaten

forgotten

has changed

Q) 7.



V.

1) They had been playing football.

2) Somebody had been smoking in the room.
3) She had been dreaming.

4) He had been watching TV.

VI.

1) | had been waiting for 20 minutes when | suddenly realized that | was in the
wrong restaurant.

2) At the time the factory closed down, Sarah had been working there for five year.

3) The orchestra had been playing for about ten minutes when a man in the
audience suddenly began shouting.

4) Example answer: | had been walking along the road for about ten minutes when
a car suddenly stopped just behind me.

VII.
1) was walking
2) had been running
3) were eating
4) had been eating (had eaten is also possible)
5) was looking
6) was waiting ... had been waiting
7) had had
8) had been travelling

Unit IV
l.

a) media b). ‘device C) storage capacity
rate demand availability
satellite consumer trunk line
transport transceiver telecommunications
wireless towards information
access increase fiber-optic cable
bandwidth consider application
core relay decompression
linkup device bursts of light
handle telephone call
standard copper wire
button
range
analog
data
digital
launch
site

V.
Accessible, medial, useful (useless), wireless, wonderful, digital, transportable, limitless,
breakable, normal, formal.
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2. is watched

3.will be finished

. has been elected
. is being rebuilt

. has been closed
. are written

. was stolen

. will be met

O©oOo~NO 01~

10 was won

Many pet dogs are lost every year.
The ill man was taken to hospital.

4All the food at the party was eaten.

The meeting is holding every Friday.
This book was written by Sam’s father.

NoakwnNpE

The casino has been closed.

The flat was broken into last weék.
English is spoken all over the ‘world.
The new swimming-pool has’epened.

Nook,rwhE

The match has been postponed.

V.

S@ ™o a0

NGO AWNE L

cut

taken

sent

serviced
broken
offered

were you born
repaired

Bob has his bike stolen.

This book was lent to me by John.
Yesterday | had one of my teeth taken out.
| was born in Cairo.

| was sold a rock concert ticket by a friend.
Tom had his house broken into last week.
When exactly were you born?

| was given this ring by my parents.

A new bridge is being built across the river.

Nothing will be decided before next Saturday.

The purse was left in the'\classroom yesterday.
Traffic has been banned\from the city center.



Unit vV

|

a) natural, panel, solar, tunnel, motorway, power, during, battery, lighting, therefore,
concentrate, area

b) pollute, consider, advantage, expensive, consumption, accumulate, remain,
unlimited, mechanical, hydraulic, enough, supply

c) non-traditional, = photoelectric, thermal chemical, civilization, population,
photocopying, electrometallurgy, individual, sun-powered, geothermal,
transformation

.

Modal verbs: 1, 3, 5, 7, 12, 15

Reported speech: 4, 8, 13

Subjunctive Mood (+Conditionals): 2, 6, 9, 10, 11, 14

V.
Prepositions: 3, 4, 5, 8, 12
Conjunctions: 1, 6, 10, 11, 13

1
Adverbs: 2,7, 9
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